Choose the right matches.
sflwner QumpSsHIGmer Csiey GFuiwic]Lb.

1. Receipts and payments account — Nominal account
QuNIBOSET LHHID CFQISSOHET 6T (S, QuuwigeTey &anTsE;
2. Receipts from the sale of old assets — Appear in the income and
expenditure account
uenipwl Qerggiser el Hmgen pped qu(mLOmen LMD ClFeedle
Cupiul L QU Ses6T sanrsdla) Gamemmin
3 Legacy — Capital fund
- eflmuyflenod QamenL epege Bl
4, Payment to honorarium — Taken to Income and
Expenditure account
Uy Suib eurey laewa| seamsdlng
T (H581F Hge Gouam(Hibd

(A) 1 and 3 are correct

1 wpmb 3 eflwnarensu

(B) 1 and 2 are correct

1 whmid 2 sflwrerena

W 3 and 4 are correct

3 whmib 4 sflwrereney

(D) 2 and 3 are correct

2 wpmib 3 sflwreneney

(E) Answer not known
eflenL Qs flweleane
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2. A line item in the equity section of a company’s Balance Sheet that
indicates the cash on hand that can be used for future expenses or to
offset any capital losses is called as
@ Bpeuasdler @iy Bleows @older ume Gflede oder @@ uf
2 (mUUgwreng), erdlisne GewelambsEnssns Howg gCsab pposer @LienL

FHsLLL uwau(SSSemIgL UaTEMSE  GDISEGLD eTéu
2iDP&HFILHEDG).
M Capital Reserve
epesar QBUY
(B) General Reserve
Cumg @@Ly
(C) Profit and Loss account balance
Gty ey /@ @iy

(D) Subsidies provided by State in pursuance of guarantee
2 S5 TaIrsSdlen 2iiq e ufe rHlessme cuPhISILIHD WTe kg

(E) Answer not known
ellenL_ Gaflweicrena
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3.  The credit balance in the Income and Expenditure account indicates

au(meumll Qeealler samadley eure) @) (HUL| eTarg) eTens GDHISS D) ?

W the excess of income over expenditure

(B)

©)

D)

(E)

euU(pLOTEND, ClFea saner 6l iHsLD

the excess of expenditure over income

QFeeyser, eu(pLDTaTSaS6llL_ iFlsh

the excess of cash receipts over cash payments
Qrrés eurey, Qurés Cgweaneu 6l s

the excess of cash payments over of cash receipts

Qyrés Qeeey, Qrmés eureney el iHlsb

Answer not known
cflenL Qgflweievena

9 Cost Accountancy/2022
[Turn over



4.  Calculate the stationery amounts to be shown in the Income and
Expenditure accounts during the year 2021.
Gemeumd efleurmseaiicr Qmps, 2021 <yar@a@MNu eu@heunl wHmL CFwelens
seamédled, eT(pgCLTmeT QFaea ereucurm Csreammbd erauiens GO ayib.

Rs.
€.
Amount paid for stationery during the year 1,080
er(pgldunmErssns Aarhss Csmamns
Stock of stationery on 1.1.2021 300
erpgummendsrar @iy — 1.1.2021
"Stock of stationery on 31.12.2021" ' 50
eT(pgQumnmEnssTer @iy — 31.12.2021
Creditors for stationery on 1.1.2021 200
(&I QummeT sLaTBCHTT savéE — 1.1.2021
Creditors for stationery on 31.12.2021 130
T Qunmer sLatbGCasmT samseE — 31.12.2021
Advance payment for stationery on 1.1.2021 20
peanl g G Gegusdlug — 1.1.2021
Advance payment for stationery on 31.12.2021 30

el igCw Qegsdug — 31.12.2021

(A) Rs.1,530 (B) Rs.450
5.1,530 5,450

&7 Rs.1,250 (D) Rs.1,080
1,250 1,080

(E) Answer not known
ellenL Qg Mwelldena
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The suitable base for apportioning recreation expenses will be
QumpgCursdlharer QFwalsamaer LdlTaugnaTear CUTHSSLTEN il LD

(A) Profit (B) Value of assets
@amuib QangHlen iy
(C) Wages of employees M Number of employees
e fluiiigaflem oardliib Goueneowiml_sefl e eremrentleens

(E) Answer not known
aflen Qs flwelldene

Department A produced 1000 units at a cost of Rs.20,000 (excluding
inter-department transfer cost) and Department B produced 2000 units
at a cost of Rs.1,00,000 (excluding inter-department transfer cost). Each
department transferred to the other department at cost one-fourth of its
production to be used as raw material. What 1s the total cost to
Department A?

gleom ‘A’ 1000 so@seamar 65.20,000 oi_&s alevaanw (Heamersené@ @eanLulemen
orppb BPhasors) 2 puss Qeusg. gon B 2000 wowgsaer p.1,00,000
SLssflmauie (HoasepsE Qo wlorer wropb bhsors) o huss Cslss.
@euQeumm giepwd 2 pusdude 1/4 ugdaw wLHY FODsEE AL &S alaaulic
epelIQuTmEerssTs LrHOWD Qeligdrerg). g ‘A’ eler Quwrss 2 HusH &8 ellana

eTeucuaTe?

(A) Rs.45,000 w Rs.48,000
545,000 5.48,000

(C) Rs.32,000 (D) Rs.46,000
e5.32,000 5.46,000

(E) Answer not known
allenL Qs flwaleena
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_--J

If the rate of gross profit for Dept. A is 25% on cost and sales of Dept. A

1s Rs.1,00,000 then the Gross profit will be
A gonler Qurgs eru aldsn Qeaslle 25% ysabd, A goper lpuemen

e.1,00,000 wsaib @)@mbsméd Qurss wrub

(A)  Rs.25,000

.@Bf Rs.20,000

em.25,000 en.20,000
(C) Rs.33,333 (D) Rs.10,000
a5.33,333 en.10,000
(E) Answer not known
eflen AaMlwelerane
8. type of branches are not requ1red to remit cash ddl]y to the

H.O. nor do they depend on the H.O. for their expenses.

Slenar cuens S IWIeUGESE DS SlemmTLLb Crrés @mlamu bFiss
Caeneuulleranay HMID DT QFW6&HEHHEE SNEVENLD SHQIUIOSSMS FTTHS(HESTS).

(A) Dependent branch
grbdlmeSlern Hlener

"(C) Wholesale branch
Qs ellhuemens Slener

(E) Answer not known
cllenL Csfweieveneo

Cost Accountancy/2022

'6{ Independent branch

S6M5g @QUIRIGLD Slener
(D) Retail branch

Slevevenm Slener



9.

Profit on life insurance business is found out by the preparation of

<gpujer s G suanflasdler @emub @senear swirflliuger epeld seaor_MuliBi&ng).
M Valuation Balance Sheet

(B)
(C)
(D)

(B

TG @iy Bl Ghluy

Revenue account

au(meUTUilen senTé (s,

Profit and Loss account

@leoru BLL saé®s,

Profit and Loss appropriation account
Qe BLL @51E&E0H Hanrd

Answer not known
el Agflwelcrene
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10. A fire occurred on 15% September 2010 in the godown of M/S A and B.
From the following figures, ascertain the claim to be lodged.

M/S A HMID B Qe GGLmafler 15.9.2010 wemmy § eluss gnul L gl 1ereumid
yeafl efleurmsafladmigl, snrésea Qe Ceouamrgw Camllémasmwu siflueb.

Rs.
@j,

Stock on 1st April 2010 1,05,300
1.4.2010 yemmy @)Ly
Purchases from 15t April 2010 to the date of fire 3,650,400
1.4.2010 pso § eflugg hul L preT cueny QsmeTipge
Manufacturing expenses and wages 2,60,000
2 HUSS ClFe6EHeT HMILD &Fnedl |
Sales from 1st April 2010 to the date of fire 6,76,000
1.4.2010 gpsed § eluss ghul L prer eueny ol HLener
Goods used by partners themselves (at cost) 10,500
URIGSTITSeTTe) LweaTU(HSSULGID FI&@aHer (<L&sLb)
The rate of gross profit is 30% on cost.
The stock salvaged was valued at 36,000
Qg eonmub elldlsn Qeweiidvp 30% <y@b. Blaliu L urkider
iy
(A) Rs.1,48,000 (B) Rs.1,48,200

a5.1,48,000 en.1,48,200
(C) Rs.1,49,000 w5 Rs.1,49,200

er.1,49,000 em.1,49,200

(E) Answer not known

ellenL QgMwelerene
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11;

Assertion [A] : The Narasimham Committee on financial system

recommended the adoption of minimum capital
adequacy standards for banks in India.

sapm [A] i B ewiy Gflss prflbwd sy, @bSlureie 2 erer

unflsEns@ GoDHSULS pogearl Gurgiorar ey
sublenaaener epmi&Elsmerer UMbgemTSs5s).

Reason [R] :  Capital adequacy norms are essential to ensure

domestic competitiveness of banks.

smyewrid [R] : andlseflar e eatpr (Gl Cumlys sarepwerw 2 miFl Celw,

epase Gurgorer iere| el pennaer jeudlwib.

.(Af [A] is true [R] is false

(B)

©)

(D)

()

[A] &M, [R] seum

Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] g [R] @ran®o &fl wpmin [R] [A]-e9nhe sflwrer eflerésin

[A] 1s false, [R] 1s true

[A] seum, [R] &l

Both [A] and [R] are true but [R] is not the correct explanation of [A]
[A] wpmid [R] @reaw®ib &M wpmw [R] - [A] &@ sflwrer eflergsid @eemen

Answer not known
afenL_ @g)lﬂu_raﬁiebmso
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12 1s a reserve created to meet any loss due to natural
calamities by the general insurance companies.

Qumpens CuilLitgerme) gpuU@L @wlilsemer gflalL Curg smilbl () Blpeuatisarme
FpuBEsULGL Gy
(A) Reserve for unexpired risk
FHTOTeuSNsTs LSS hemer @) (mLiL
(B) Additional reserve
(5 Gy

M Catastrophe reserve
Gulfrgmey @)Ly

(D) Conservative reserve
LmgISmUL @)L

(E) Answer not known
sllenL Gaflweferena

Cost Accountancy/2022 12



13.

Which of the following statements are true in bank accounts?

umidlé sanéE FbubsUILIL L GemelmHbd sanmsete erencu sflwmerened?

(1)

(11)

(111)

(1v)

(A)

In a Balance Sheet “Gold” is shown under “other assets” and
“Silver” under investments.

Amuy feows iudad “smsn’ @sy Csrsgsear smeolbegn “Ceudrefl”
WPpSDHEET HaneiGaid @L b Glumib.

A banking company cannot grant any loans on the security of its
own shares.

curdl Blmieuenoneng) sang) C&mbs LikiEs@héE eTéins sLen Camhiss (Lpiqumg.
Banks do not make a provision for bad debts as they secure or
insure all their advances.

URIEGET, S AMESFH WPETLITSSDELD a;rruﬁ@ QFieugTe @Jma;ésl_sﬁr
2815850 Qg Caameuudarane.

Banks are required to transfer 25% of their profits to statutory
reserve.

aumdlsar sangl 25% @aorusems sl Lieu @U@ wrhn CeuarHib.

(1) only
(1) v b

%{ (ii) and (iv) only

(©)

D)

(E)

(i1) wpmibd (1v) L Hb
(i11) and (iv) only
(111) wpmb Av) wLHb
(1) and (i1) only

(1) wpmb (11) W
Answer not known

eflen Qg flwelerene
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14.  Amount realised from sale of goods is shown in the Statement of Profit
and Loss alc

Qummseflen  elpuameanilambg  GQuplulL  Gsrens e@rud  wHML Gy

SiflGamsulle smL Ul (Hererg

(A)

(©)

(1)

Other income '{ Revenue from operations
Wm eumLomend QaweruimHasefien eu(meum
Finance cost (D) Material cost

Blél Ceaway Cummer Caaay

Answer not known
edlenL @g,rﬂ wieleveney

15.  For valuation of Goodwill'the term capital employed includes

poCoaramsder WHUSG GHEHL LuaURSSLLEL  ppesard aen  GEmoald

| L_BIGLD.

«r Funds provided by shareholders

(B)

©

D)

(E)

LIBIGSTIISETTE) aupRIsILRID HlS

Funds provided by debenture holders

sLan USETD eeusSl(HLLIeITEeTTED eUPRISILMHWD Bl

Funds provided by shareholders and debenture holders

URBI@GSTITSET oHMID SLeit LUSSHTID eneudd(HLLeumEerTed culpmisUILI(HIb Bl
Funds provided by shareholders, debenture holders and creditors
URBIGSTITSET, SL6T LSS T eneuSS (HLLIGUTHET HMILD SL 6 GULPMHEIEGLIGUTSETTE
auprisLILIHID Kl

Answer not known

ellenL Qg flwueleena
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16.

17.

The minimum amount that should be called by a company with
application for its shares is the following percent of face value of shares
@R BNeUTSESTE) ST LIkIGSERESTan ellamaniuSSIL 6 s GolaTig L
GmDhsuL s Asranswneng UniGsaflen (pswdiber Gemeaumb s56isD samis

A) 2% & 5%

(C) 10% (D) 15%
(E) Answer not known
cllenL QzMwelerena

Find out, from the following statement, which one is not correct?
GemeumHd Diflsmasafler seuprar genenn serr_HIa|Ld.
M Bank ‘charges charged by the bank are shown as finance cost in the
statement of Profit and Loss
aumdls  slLambd, eauidller @enmu  pLL  sansdle  HE  Csoeuns
sramissliuBEng
(B) Calls-in-advance is shown as other current liability
paGsnydosd @sr pL L QuImiiuseTs stamdés L@ ns)
(C) No dividend 1s paid on calls in advance
WPETGHTTOSEHEH @ LIBISTSTULID G)eene
(D) Expenses incurred on the employees are called employees benefit
expenses
Qgmflereris@hsaTer Ceaway, CgmBeomari L (p) Qeaveuns
SapssliLhdleamg
(E) Answer not known
alenL Qs fluwislldvene
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18. A discontinuing operation as per AS 24 represents

AS 24 @én Lig g QewourRasmer FlmiSsisa0 o GH&Sna.

(A) Amalgamation
SEnal
(B) Liquidation of an enterprise
@ Blmeuangdlen senevliL
(C) External reconstruction of an enterprise
@ Bimeuatsslen QeuafliiLm wm&yentoliy
K Discontinuance of a component of an enterprise
20 Hpeasdlen smpsmar Hnssisd
(E) Answer not known
allenL Qs flwelsvenay

19. Accounting standards aim at improving the quality of financial reporting
and promoting by

sansslue grbleaoser B iflsmslean srsms Cubu@sgeumsub

epad GobuBsgeuamsib Crrésnrss Glamem (Hererg).

(A) Consistency in the interests of users of financial statements
Bé @idlsemaseamul Lweau@sguaisaien paafld Hlamas seranio

(B) Transparency in the interest of users of financial statements
B8 Hlene siMsenssamars Lweu(RHsgLauTsafian boailo QeuallliumL g saremo

(C) Comparability in the interest of users of financial statements
Hé Hlener idlsemasamars LwerL(hdgiLaTaatem boama Ui

6 Comparability, consistency and transparency in the interest of

users of financial statements
B8 iblsmssmar LwaLBSH LTSl Baoealldy @USEH, Hamas semeamn
wHmib Qeuefliiuent_g emenio

(E) Answer not known
aflenL Gsilwelevena
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20.

Assertion and Reason Type

SaHM) LDHMILD &TTERTLD CUENS; :

Assertion [A] :  According to IAS-5, all material information is not
essential and relevant

sapm [A] . [AS-5@en Ly, S@marss Qumnmer sseaumsern (Material)
Sjeuflwinrerens HMLD CUMHSSOTETEE 260

Reason [R] :  Material information would influence the decision
of informed 1nvestor.

smyenrd [R] D ssaubps wesSLrerflar (piyeysmer Qummer (Material)
HHL LITH&HE LD
(A) [A]is true, but [R] is false
[A] e amenio ; pammed [R] seuprang
(B) Both [A] and [R] are true ; and [R] is the correct explanation of [A]
[A] wpmp [R] @raw®w oawew ; wombp [R] edaug [A] @ar sfluner

eNeT&sID
) [A] 1s false; [R] 1s true
[A] seuprengy, [R] 2 awrenio
(D) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

[A] womd [R] @ran@n e arew, geand [R] eeawug [A] Ger sflwumer
NleTESED e

(E) Answer not known
ellenL Gsflweileenaw
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21. In the preparation of cash flow statements, as per AS 3, which of the
following operating activities lead to cash flow?

AS 3, & ug Qs @l <fsms surféen Curgy Shsar. Qusss
Qeweurhseiic ereneu Qrmés el LS8 ghuBSslenmen?

)

(B)

(©)

D)

(E)

Cash receipt from the sale of goods
Qunrplsemer el Huener Qwieugar eped QupliLl L Qprésid
Cash payments to suppliers of goods
QummLseer aupriSlueiméE CsThEslul L Qrrésn
Cash payment to acquire fixed assets

Brhsy Gergens eurmi@eausn@ QerHésliul L Qrrésb
Cash repayments towards amounts borrowed
Uil sL_ani&@ Qeaussu Qrrésid

1 and 2 only

1 wpmib 2 ol Gib

1 and 3 only

1 wpmwd 3 w_Hd

2 and 3 only

2 womib 3 w_(Hib

3 and 4 only

3 wHmibd 4 wHib

Answer not known

ellenL G flwelerensy
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22.

23.

Input tax credit as credited in Electronic credit ledger can be utilised for
Bleenam sLan GelsMea @il Harer 2 erafl (B eufl cugey Spseam Qsweing
LWETL(NSSE0LD.
(A) Payment of interest
ULy GEQI55i56
(B) Payment of penalty
<urTsLd QFQ) 55560
(C) Payment of fine
STogns CeasSHusnE bz s Larbd Ces5sise0
%ﬂr Payment of taxes
aufl Qeausgisao
(E) Answer not known
eilenL Ggflwelevena

As per the CGST Act 2017, the term ‘Works Contract’ includes
88660 1q.. LD 2017 6 Lig ‘Ceuenaw @UILIBSLD cTETLIS)
(A) Construction, fabrication, completion, erection installation etc of
movable property
Qutigé Qensg), sL_(Hwrand, s_{H(HeurssD, Hlamey, eWbUgE, Hlmie s
{ Construction, fabrication, completion, erection installation etc of
immovable property
@Qumsng Qersg), s_(Hmerd, sUH(HeUT&EsD, Hlepme], er(pbL|Fe, Hinege
(C) Both (A) and (B)
(A) wpmid (B) @rerHio
(D) None of the above
CunEHudl L age|b Gdema

(E) Answer not known
ellenL GgMweierena
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24. Assertion [A] : Indian Customs Act aims to safeguard domestic
trade.

ganm [A] D @bdu Qns@wd aufl [ srseul asnsrsbeuafleyy o empr ()
BUTETILISENS LITS|&HT&HE.

Reason [R] :  Rules under the Customs Act can be enacted by
State Governments.

sryemid [R] D onBle Sips &S ufld FLSms HADOLHSSOTID.

« [A]istrue, [R] is false
[A] 5, [R] saun
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] womw [R] @@ & wonn [R], [A] b Bles é‘lrrblr_'r;g, eflemdas 2 ey
(Cy [A] 1s false, [R] 1s true
[A] soup, [R] s |
(D) Both [A] and [R] are true but [R] is not the correct explanation of [A]
[A] womid [R] Qranimd eACw emmed [R] aemug [A] g sflwmen

NleT& s L6

(E) Answer not known
aflenL Qgmweilsianey
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25.  Which of the following tax is not subsumed in GST?
§75& omd GCreneu auflGEeT Hadlwibnang culser eraneu?
(A) Tax on lottery, betting and gambling

m_ L, ubsWIDd LHND G L LD BsTer curl
(B) Tax on advertisements
eflemibuigrisefier Wemear eurfl
d Stamp duty and property tax
WpéEenrssmer sLLenrd HmD Clemgg el
(D) Central Excise duty
&S Sevmed curfl
(E) -Answer not known
eflenL @silwelevena
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26. Under GST input tax credit cannot be claimed on goods and services
used as inputs if

.arav.lg. oarafigen &p, edef@sams LWEURSSILADL QuTmHLSET WHMHID

Ceaneusaflen 5g euflgsLeanr Qup @rywrg eaug WeTahHeuaTeuDmE TEHE

QurmHEID?

(A) Goods are purchased on credit
QurpL_geT sLafle) eummbisliL(Hsd

(B) Goods are received and utilised but invoice is received after two
weeks from the supplier
Qurmlser  eumasiul(h uvweau@sdu  Gneg 2 arphmsdr S5
suenarwilmHg elenes UL iguwied Cumeug

e( Goods are destroyed by fire

' Qurmiaer Suime SifiBg Cumge |

(D) Services are provided by a law firm on which GST has been paid as
RCM (Reverse Charge Mechanism)
Geeneuser aupmi@d qm &L Bimeuerd feufen mish Guwssnalsn apan GST
Qoeisg5

(E) Answer not known

aflen Qgflweldene

27. The Chairperson of Goods and Services Tax Council is
578 wHmib Caeneu eufl @G pellen Senaento BLIT

Union Finance Minister (B) State Secretary
os5Hw Hl emwsen wrhle GFwer

(C) Revenue Officer (D) District Collector
QU(HEUITI B{@YIEIGDIT OmeUL L gy, i

(E) Answer not known
eflenL Qsflwelevene
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28.

29.

When liability to pay GST is on the recipient of supply, it is known as
g6 wHnb Cemeu eufl Qeaussd Qummliunearg AECWrsSms GuDDeUTL Gl

@ m&ED Gung GTET) <D{EDLP&SLILI(RID.
(A) Advalorem duty (B) Service charge
i g &IL_eawrid Craneu L emTd
'(J Reverse charge (D) Input tax
enGenmédlw sL_L_ewrld o et eurl

(E) Answer not known

eflevL Qgflweildana

‘Improperly exported goods’ under Customs Act, 1962 means
siuseufl & Lib, 19626 S “wperpwnn wenpulled” gpmiwd Qetiuiiu’ L QureTser
GTEUMITED
I. Attempted to export prohibited goods
gL Galwiul L Qurearsear erhmingl Gsiu wpueeis)
II. Attempted to be exported through any route other than notified
route
Si@wdssiul L aflowusselly GCam ebg euPuilgd gpmind s
PG
II1. Attempted to export goods found concealed in a package
@ QurLasdd QumnmersameT amss meussl Fhmid CFliw pweeug)
IV. Attempted to export Narcotics.
Gurens ) Qummersener erpmiodl Qe apuiceug)

(A) I, II, III only (B) IIIL, II, IV only

I, I1, 111 wd @b IIL, IL, IV wl G
(C) 1,1V, III only \fﬂrAll of the above

I, IV, III o' @b CLomHSETL 2 EDEITSHF)LD

(E) Answer not known
eflenL Ggflwelevena
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30. In which of the following case, Apportionment of credit is not available?

YetreumeuaTeu e eThS @ iblaneuiler RS (& s L amrib Geoamnea?

(A) Goods and Services (or) both used for personal consumption
&15E LOHMD Csmel (jag)) @@%u @ranr(hb  seflpuT msTelDHETS
LweL(h&mg

(B) Supplies on which recipient liable to pay tax on reverse charges basis
Sjaflbenr Gumg wrHmy sl BgliuanWd abhg euams GumbT euflanws
QFSS SLapLILIL L Ui

(C) Where supply is porting for the purpose in the business and
porting of other purpose
safuler  @m ugdureary euafls Coréssdnsrsaid @retey WLHD
CrnaasHharsalb @)meeELn

@T Where supply is porting for effecting taxable and porting for

affecting exempt supplies
2afliy eremug) eufl clflassmigu, elasE <aflssiulL IHCUIskIGmaTL
undlé@ b

(E) Answer not known
ellen Qs flweldena
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-

Assertion and Reason Type

DM LDHMID STTETD CUEHS: :

Assertion [A] :

sapm [A] :
Reason [R] :

sryenrd [R]

The first canon of taxation is the canon of equality.

auffl ellgliGer (pge Bl swggieu Hlud.

It’s not very unreasonable that the rich should
contribute to the public expense not only in proportion
to their revenue, but something more than that
proportion

La&sTriger Qurgd Qemaleammis@Ens@ eurseten emeurulle
flgsder L (Hwoemod, olflsrésmsms ol SsLTS|D
uniisaflss Couam®id eremugl Wseybd BlumuHpg) Siee

(A) [A] is true, but [R] 1s false
[A] efl oyemmey [R] seummeng

~63( Both [A] and [R] are true; and [R] is the correct explanation of [A]
[A] wpmnd [R] @ramhin sflwureng Coaub [R] erenug [A] Qe eflwumen

MeT&E&LD

(C) [A] 1s false, but [R] 1s true
[A] soumy ey [R] eflwneng

(D) Both [A] and [R] are true; but [R] is not the correct explanation of [A]
[A] oo [R] eflwnensg; wperme [R] eremug [A] @er sflwimer sflerssid oicve

(E) Answer not known

cllen Qg flwelvency
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32. The awards and rewards are exempted from income tax if
uflas@Eps@Eb, Geugmerb/ geromeb euflelosa TiCLTCS6 6
(A) Payment is in cash
venrorsl Gumibd Gung
(B) Payment 1s in kind
Qumrpermsls Qumid Curg
M Payment is in cash or in kind

uenrorsGeur / QurmenTaGeaur Glumb Gung

(D) None of the above
Cop@hudl L ggfledars Gung

(E) Answer not known

allenL Gsflweierenen

33. Amount payable by non-corporate assessee on or before 15t September
18

ﬂge‘umm gmyng eufleflgldsliul et ereuaieme) Caranaamw (ssedldlassla) Qe bur
s 15 Casdlé@er Qeqss Caiamm(Hin

(A) 20% of advance tax payable

20% aparGL Qegissibd aimporar aiflude

6( 30% of advance tax payable

30% qpemsnt g G Qegissib aimuomen auflle
(C) 60% of advance tax payable

60% @pengnl 14 Cw Qeayss)n eumwrer euflufe
(D) 100% of advance tax payable

100% qpenant 14.Gw Qeaydsib eumome sufludle
(E) Answer not known

eflenL Qs flwaléens
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34.

30.

Assessment under GST, every registered taxable person shall himself
assess the taxes payable and furnish a return for each tax period is
known as

Geeneu wHMD varLs [ Qurmlger WBsmar eufleow wdley Gelwdul L Himeier
o fevowrert srCar LNGargman GFlig rssaE eumwTeT aufls gD FLTUINSHER
GTEOTLIG;]
(A) Best judgement assessment

Aops BHBleaeawwmar aufl HUILSH

(B) Provisional assessment
gnsnedlswrer eufl SIS

\@r Self-assessment

gw wHIEH

' (D) Summary assessment
s(m&aman wHULEH

(E) Answer not known
ellenL GaMweilaena

Income of non profit seeking Educational institutions, financed by
Government is Exempt from Income Tax if its annual receipts do not
exceed

“orsmisd B sl GQewug, eru Gprag smm soel Blmeuamhisais eumHD
aumLmenoreng, Siphneasse Qardsslubpin Qurgg eumwrard (196 sardsle)
Caég), SCLp 2 6o GTETeUGI (1 QSTEHMWI ST &dal _MF).

(A) Rs. 50 lakhs _ (B) Rs. 1 crore
em. 50 Qe &b em. 1 Gamig.
wr Rs. 5 crores (D) Rs. 50 crores
em. 5 Camig. em. 50 Camig.

(E) Answer not known
aflenL Gsflweilerena
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36. Value of car facility with more than 1.6 litres, offered by employer for
personal and official uses and all expenses met by employer is (As per
2018-19 Assessment year)

Gurs@eaursdnans s eusd uamflwefluueugmed Celwdiiul @ (1.6 Ol méeE Cuod),
Qseayser smarsghd uaiueafliusurrd gnms Qarareriiul_Lme, g6 L6t Sl
IS . (2018-19 oy,1b 2y,6rig-6r HersEL Lilg)

(A) Rs. 1,800 p.m. m{s. 2,400 p.m.

ep. 1,800 wrgbd geanhlnE . 2,400 wrsbd eerdinE
(C) Rs. 600 p.m. (D) Rs. 900 p.m.

ep. 600 wrgid gerdlnE em. 800 rsb et
(E) Answer not known

ellen Qsflwalérene
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37.

Assertion [A] : The ultimate tax payer does not feel a direct pinch while

paying Indirect Taxes.

snm [A] : Qmd el Gegssuet wanps el CQegsgsbGUTE M

ChiigWImg 2 enTFLomL_LmiT.

Reason [R] : Resistance to Indirect taxes 1s much less when

-compared to resistance to Direct Taxes.

sryenrd [R] Corg  euflsEpsE adiiou  @uid@nb  Curg  weDUs

(A)

«

(©

D)

(E)

cuflgEnéamen eTdliiL &b Ganey.
[A] is true, but [R] is false
[A] e a@wmeno syemmed [R] Quim
Both [A].and [R] are true;. and [R] is the correct explanation of [A]
[A] womd [R] @ranhib 2 arenw, wpmind [R] [A] efer sflwrer eflerésio

[A] 1s false, [R] 1s true
[A] Qumds, [R] ea@wenwo

Both [A] and [R] are true; but [R] is not the correct explanation
of [A]

[A] womb [R] @rar®id e aremw, game [R] [A] far sflurer eflerésid
<2606

Answer not known

aflenL GaMwelerena
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38. Compute net annual value from the following :

Qemaumeuamaumdlellmbgl Hlar nanm® wliemu samadla|b

Rs.

@.
Actual Rent received 72,000 p.a.
2_auTenLowimen eumLend GumiiLil’ L g
Municipal Rental value 60,000
B&TTL_El eum_ang iy
Fair rental value 66,000

Blumuwrer eurL_ens wdlliy

Municipal Tax paid 10% of MRV _
parm& eufl, paym & eurLens wHUGd 10% QeaussinLg.

(A) Rs. 72,000 'ﬂ Rs. 66,000
. 72,000 . 66,000
(C) Rs. 60,000 (D) Rs. 56,000
. 60,000 . 56,000

(E) Answer not known
ellenL Ggflweilerenan

39. Who has laid down Canons of taxation?

aumLonen euflds L gslem g liuen s Gamlunrhsemer 2 (heurddweur

(A) Adolph Wagner (B) E.R.A. Seligman
SLmels Ceudaerrm @).9m.61. QFadllsGLoet
\Q() Adam Smith (D) Lord Meston

LD aVLdlG QuwevL_em 19y
(E) Answer not known '
elleni Gz flweldwane
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40.

41.

y 2 : ’
Mr. X an employee of a private company got E of his pension commuted

and received Rs. 4,00,000 in lumpsum. What is the taxable amount of
pension if he is entitled to gratuity?

2
gafwri BAneuasder Hm. X eramueui seang uenf guelhe@l er 3 8 @uiapdu
Qsrgriuns ap. 4,00,000/- Quudlnrt. et uafl&basmeaL up sl e drareurts
Qmuler, oeumaLw  @uapdlusde eeieamey  epuml  eumoner  euflss
2 _u(hssIL(HIb?

(A) Nil Y@(Rs. 2,00,000
g g ldena . 2,00,000
(C) Rs. 2,66,667 | (D) Rs. 4,00,000
em. 2,66,667 i em. 4,00,000
(E) Answer not known
eflenL Gsflweilavena

In which of the following case Municipal taxes is deductible while
computing the Annual value of House property?

Epsan_ pLeugsmasate, afld oarh wHiy (S (h& Cdengdlelpng eumLmenD)
sanr&S (O Cug), parml_féeE Qsayssw auflulienar 5105816 CemeTeramb?
(A) Municipal taxes paid by tenant

p&TTd auflenws eum_enagsnym Cegssid Gung)

(B) Municipal taxes due and paid by owner and tenant
eyl 8 euflenw S e Menwwrarmd, e essmpmd Haiweaimw Gsrbg)
Qeaisgb Gung)

( Municipal taxes paid by the owner
parTl & euflenw a5 (1 2 Mepwimeri Cleausgib Gumg

(D) Municipal taxes due and paid by the owner
p&yr_8 cuflenw Hlayameiu|en Gambg) 2 Menwwrart wl Hib egissib Cus

(E) Answer not known
aflenL Qg flwaldane
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42. Assertion [A]: Income tax is a Direct Tax.

gamml [A] : au(mLomen eufl eremmig) Criyig eurl.

Reason [R] : The liability to deposit and ultimate burden are on the
same person.

smyewrd [R] : QLurfll Qeleugnsrer Gurmiyn, @nds semwuyb Gy B
Bgis e

(A) [A] 1s true but [R] is false

«

©)

D)

(1)

43. A

[A] 2 aweno <pammed [R] Qumi

Both [A] and [R] are true; and [R] is the correct explanation of [A]
[A] womib [R] @rear@n o arenw, wpmid [R] [A] eder sflwiner sflarésin
[A] is false, [R] 1s true

[A] Qumis [R] 2 awrenio

Both [A] and [R] are true; but [R] is not the correct explanation
of [A]

[A] womb [R] @rew@n e arewn, epamme [R] [A] e sflumer efergshn
606D

Answer not known

eflen_ Qg flweldene

1s a correlation between a learner’s performance on a

task and the number of attempts or time required to complete the task.

—— aranug) (h Uenfludled shueuen Ceuddper uafleow Wiy é&s Caemeaiwme

pwpd wg Crrsser erameantsams <dlweundler Ggm .

6 Learning curve (B) Specific learning curve
SHDHE CUMETEY GO L sHme eueneTey
(C) Operating costing (D) Standard costing
Qeweapern iL_Gsallena 57 2LGH6elame

(E)

Answer not known
clilenL @sflwalerene
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If the Learning Curve Ratio (LCR) is 80%. The labour cost to produce
first unit is Rs. 10. Find out the average labour cost (per unit) for the
first 10 units.

sHme cuamere| elldgsn — 80% s Qummener 2 HusH CQelieusnarear Ggmfemart
Qseey — ep. 10. apsed 10 Qun@plsener 2 HusH Qelicusnaner e ia@Essmean syl
?a}nmﬁ O Fevey ereren?

Rs. 4.76

¢h. 4.76

(B) Rs.47.6
eh. 47.6

(C) Rs. 476
em. 476

(D) Rs.0.476
er. 0.476

(E) Answer not known
eflenL Az flwelcene

Learning curve process will
SHHO cueneTe| ClFwe (Penme6T
ﬁr Reduce time
Cprgeons GomnsED
(B) Reduce cost
QFaenal G n&E D
(C) Reduce Number of employee
Ceuaneowim_seneT @Gem&ELD
(D) Reduce supervision
Cupurreneuamil G D& ELW0

(E) Answer not known
cflenL Ggilwelevenad

33 Cost Accountancy/2022
[Turn over



46. A comprehensive understanding of by managers may result
in favourable and valuable managerial insights regarding labour.

Gemerigser ———— penensear LDl elfeurer Lfige, sngswmean wHmD LY
WBl&s Hliteuns (pige semer Qemilamarisemer @hée 6(Hés G)we .

A Learning curve

(B)

©)

D)

(E)

FMHME CLUMETEY

Knowledge curve

2iblajFmen cuenara,

Break even curve

genenar FM&aEL(MID Blona aueneTe]
Demand curve

CHeneu cUMGTE

Answer not known

ellenL GgMweilerena

47. The term current assets does not include
peLpomn Gensgsadr @eundle gandea Ceyrg

(A)
(©)
(D)

()

Payments in advance
apeignl_lg Gequsdu Qgrens
Receipts in advance
Wergnl_lg CUDD eUEHLOTEID
Bill receivable
curGeuanrig L &g

Debtors

&L_GHTITGITIT

Answer not known
allenL Qg flwelcvene
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48. The collection and processing of financial information to assist with
direction or control of an organisation is called

@@ Pnaasdoar, @swurErsd, Pl BLSHSH, sLOUURSHSH WSueupmss
2 sajeugnsren HliFls sacuame Casflsse

d Management Accounting

(B)

©)

@)

(E)

Gemearrenio Fanrdd L

Cost accounting
Oeea| seanTdHs e
Financial accounting
1616 semradlwicd
Corporate accounting

Hlmyeuens seanradluic

Answer not known
aflenL_ Glg wedsvenay

49. Financial statements are meaningful and useful only when they are

SaTEH LIS LFeH6aT —————— L HC LWLIE)ETaTSTl LW LD.
(A) Verified

FRlUTTSS HHSTED
(B) Presented to owners

2_flenLowimem(mé @) euLpmBISLILIL_Iq (HiHhSTeD

ﬂ( Analysed and interpreted

D)

()

L@GSSTWHE, QuireT cfleTésb HeflgEaiu g HBHST
Published
Qeuafludl_ti g (BT

Answer not known

aflenL Qgflwelevene
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50. An expression of the quantitative relationship between two numbers

Qran ([ eramsatlen ameneudi@ Ml Qeuefl Hump —————— eremiupib
« Ratio | (B) Statistics
NESAN yerefludwed
(C) Management accounting (D) Percentage
Cuereamend Gentédlie F&6lSlFD

(E) Answer not known
ellenL Qgflwellevene

51. The ratio that measures the cash flow proximity is
LU 065 OB (H&sg.nws @GOlés Qunmsgwonar aldlsmn
(A) Fixed Assets Turnover ratio
Blenewiren Gengg) alpmipsa elélgsd
(B) Sales Turnover ratio
eflhuenar elpm apsed alldlso
@ Acid test Ratio
Sllew Gergenar 64l g0
(D) Current ratio
BLUL elldlsD

(E) Answer not known
elen Qg Mlweldene
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92.

53.

One of the following does not include the Three Basic Tools for financial
statement analysis
g LiueL eermy Bl Sifldens u@liumisile ——————— GarssliuLafldame.
Inventory Analysis (B) Horizontal Analysis
&T6@ UGLUmie, SenL_bl L LGUUMLIG),
(C) Vertical Analysis (D) Financial ratios
QenEss LGUUTLGY Bl efldlsmisar
(E) Answer not known
efen Qs Muwieiidena
In which of the followiﬂg ways financial statements can be analysed?
ShsearL erhs auflaafle Blblane idlGmsaamameT 16| Gl (pigub?
18 Trend analysis
CurssmlIe|&6T
2. Cross-sectional aﬁalysis
GN&E Ceul(H e
3.  Vertical analysis
Qsrii@sg) e
4.  Ratio analysis
cAdl5 <piiay
s@( 1,2, 3 and 4 (B) 1,2 and 3
1, 2, 3 womb 4 1, 2 bpmib 3
(C) 2,3and4 (D) 1,2and 4
2, 3 womyw 4 1, 2 wpmb 4
(E) Answer not known
eflenL_ Qgilwedldene
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54. Choose the correct answer the main objectives of financial statement
analysis 1s to

silwmer eflenL_eww Az Mo Qaliweyd HiE oflsems L@glumieien wpaédlw Crrésid
(1) Estimate earning capacity of the concern
Bimeueargdlen cumeumis Simenar wH9Hge
(2) Judge the financial position of the concern
Bimeuengslen Bl Hlenawens serri_Hlge
(3) Determine the credit capacity of the concern
Bimeueangdlen sLan Hlpenan Siromelgse

(A) Only (1) e r—
(1) i Hib & (1) womd (2) &
(C) (2) and (3) are correct (D) (1) and (3) are correct
(2) womb (3) &M (1) womd (3) &
(E) Answer not known
alenL Qg flweicrane
55. relates liquid assets to average daily operating cash
outflows.

b efldlgsSD @, syref fansdl Quisss La QeuelCwHPSSHDELTe fdlgrésmyid
(A) Quick ratio
cflenyey efldlgd
(B) Current ratio
BLUL efldlsid
(C) Liquidity ratio
B el gio
) Interval measure
@erL_GQeuaf yerei(
(E) Answer not known
aflenL Qg flweildena
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56. Management accounting and cost accounting are
GemenTento HMID 9iL_&&6elena) Sanrésliic) crerLig)
(A) Neutral in effect
wHBlaawres)
Complementary in nature
Blanmey o_arL_n&@dln/ G emsswmer
(C) Contradictory in nature

(LPITEH0T LI TL_TBIG;)

(D) Static in nature

~ Bevoowimensg

(E) Answer not known
allen Gaflweilcvensy

57. The primary goal of management accounting is to

Guaramenln SeTEEwaele (PSS DDFD

(A) Interpret the financial data
Bl udleysatien Qummetlerssid

(B) Record all business transactions
aurenfle LfleuTssaman LSl eyger

'J Provide accounting information that is useful to management

Guarearenné@ Csemeuwrar Hlfls sseunsame 2jaflsse

(D) Classification of financial transactions

Bld ufleursgearsemer euansiLHigsHe

(E) Answer not known
eflewL CsMweierenc
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58. The main relationship between cost and management accounting is
Guararen samsdlwe wLOHNL L Gsellame sarsHud ————— e
gatmisCaraTn QT TyeLwg).
Helps decision making and control day to day activities
plqLeuBisse woHmib Sensfl BLsigsmasamer sL_(HLILIHSS 6

(B) Ascertain profit and depict the financial position
orugens bliraullsse b HlF Hlepaweannen o amiggeb

(C) Give information about internal and external operations
348 WHMILD LM BL_aulg S &&eflen SHeuaEemarT sairLmliw

(D) Accounts are prepared as per the guidelines laid down by
companies Act and income tax Act
savéEl e Lgleser, Bimeuer &L gdlern &b, eumwonear aufl &L sSDEGL UL LT
6TE01S HevoTL_Hlwl

(E) Answer not known
sllenL Gsflweevrenen

Cost Accountancy/2022 40



Assertion [A] : The Management Accounting is helpful for Managers.

aanm [A] : Guanare sarsdwd eramug CLeTerTsEhéE 2-$eeusmE@LD.

Reason [R] : Management accounting is used for (1) planning;

(i1) implementation and (ii1) Control.

smyewtd [R] Guenamew sarsdud (1) Hirfd; (1) eudu@ sz wHmnb

(A)

«

©)

D)

(E)

(111) s HuuT_B&E vwauBSsUUHSH D
[A] is true, but [R] is false
[A] e a@weno =pamed [R] seupneng
Both [A] and [R] are true; and [R] is the correct explanation of [A]
[A] womib [R] Qram@n earemw, wpghd [R] eemug [A] efer eflwmer
elleT&sid '
[A] is false, [R] 1s true
[A] seuprang [R] 2 arenwo

Both [A] and [R] are true; but [R] is not the correct explanation
of [A]

[A] wimib [R] @ram®ib o amenio, syemed [R] eramuig) [A] eflen sflwmen eflerssid
P [abay

Answer not known

elenL Qg ilwellevenay
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60. Match the following scope of management accounting

Guameairenio seanrédlwellen Gorasid undlw Aenaheusmeunennl CLIMIHSSS :

(a)

(b)

(©)

(d)

o

B)
(©)
D)
(E)

Financial accounting I
1518 &emré 3,
Cost accounting 2.

Qaeey sanré

Reporting 3.
2DE®SUI (HS
Office services : 4.

DYICUDG CFeneUSHET

@ M) (© @

3 4 2 i
1 2 3 -+
1 3 2 1
2 1 3 4

Answer not known
sllenL Qs flwelene

Filing, copying
Cariyser, pablaHgse
Cash flow and fund flow
statements

LERTUILLP&SD, opmid Kl
UL SMsams

Historical information

QUITLITHM] H&H6U

Techniques of costing

Qaeey Glauwub mi LirkiseT

61. The deviation of actual from standard is known as
srbleneudladlmba) 2 eTeTUiq Wirer aflese eTemLig)

(A)

(©)

(E)

Difference Analysis \{Variance
Ceumun(h) uGLILmiey wrmur
Standard Cost (D) Marginal Cost
Blenevwirer Caaey aflefliby GFava]

Answer not known
alanL_ Qg)ﬁlu elavenay
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62.

63.

Calculate Material Cost Variance :

Quper Qeeway wrmuT®H saTsSHs :

Std : 16 kg of raw materials @ Re. 1 per kg.
Actual : 20 kg of raw materials @ Rs. 1.50 per kg.
giblena : 16 & epalQumrmer @ em. 1 /&

2 arenowirer : 20 & epei@Qunmer @ em. 1.5/ &

( Rs. 14 (A) (B) Rs. 14 (F)

em. 14 (unsswmen) em. 14 (sngsiomen)
(C) Rs.41(A) (D) Rs. 41 (F)

e, 41 (urr‘e_r,a;_mrrem) ' e 41 (&rr‘a_r,a;-mrrem)

(E) Answer not known

eflenL Qs flweleene

Idle time variance is a sub variance of
Qaweonm Coy wmmun( 5| GHERT LOMMLITL_MGLD.
Labour efficiency variance
Qg mfleomerT Slmeor ommLImL g 6o
(B) Labour rate variance
CgmOemer efleney ommiLImL_iq 61
(C) Labour cost variance
Qg mfleomeT L &sellena LommiLITL g 6o
(D) Labour mix variance
QGO TETT HeVenaU LOTM)LIML Ig 607

(E) Answer not known
allenL GaMweilcrena
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64. Find incorrect match, about material variances :

Quirper wrmuTBseT uPHiu Saupmen UTHSSSDSS SaTLHs :

(1) Material cost variances = Material price variances + Material
usage variances
Qummer Qe wruUIGsd = Qummer el wMMYUTHSET + GUTEHET
vwerur(h wrmumHser

(11) Material usage variances = Material mix variances + Material
yield variances
Qummer LweTuT_(H wIYUIHSET = QUTHET Gaened WINYULITHSET + QLIT(HET
eflenergaed IMLIT(HSET

(111) Material cost variances = Material price variances + Material mix
variances — Material yield variances
@urr@a;h‘ Qeeway Lnngurr@assi% = Clumger eSleney Lmr@urr@a;@h + Qurr@eﬁ SN
M UTH&ET — QUIMHET W&HEQD W Um(H&eT

(iv) Material usage variances = Material mix variances — Material
yleld variances
Qumrmer Lwerur’ (H wrour® = CQurmer soees wImUTHEET — QurmEr
aflencréged Ly LIT{HSET

(A) (1) and (ii) only incorrect
(1) wHmb (11) WG Feupres,

{ (111) and (iv) only incorrect

(i11) wpmb AV) WL Hib SeumTes)

(C) (1) and (iv) only incorrect
(1) wHmD (1V) WL Hb sauTETS)

(D) (1) and (111) only incorrect
(11) wHmb (111) I Hb seupTens

(E) Answer not known
adlen_ GQgMwelevenen
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65. Which is the correct formula for material total variance?

QumpLser Qg wrmyurBssner sflwmer @sHrb

(A) (Actual price — Standard price) x Actual quantity
(2_ameruigwmen allena — Gangy ellana) X 2 6TeTLIg UITET 466

(B) (Actual quantity — Standard quantity) x Standard price
(2_emeruLigwimer jaTe| — CebsT Sera|) X QFbsr ellana

(C) (Standard yield of actual input — Actual yield of input) x Standard
material cost
(2_emeTuigwinen o et igen Qahsy eflenar Liwiem — 2 6Tefl g6 2 6Ly Wimen
elener Lwen) X Qepsy Qurmmlseflen oiLsseilane

-ﬂ() (Standard units x Standard price) — (Actual units x Actual price)
' (QepaT Siw@se X Qabsy ellenea) — (2 GTaTLIGWITET D EGSET X 2 GTeTlilg UITeT

aYlanen)

(E) Answer not known

eflenL GgMwsilcrenay
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66. The standard cost of a chemical is as under :
@Qremueangslen Qensr ellanew G Qan(hasliul(Hererg :
4 tons of material ‘A’ at Rs. 200 per ton
6 tons of material ‘B’ at Rs. 300 per ton
Standard yield 1s 90% of output.

The actual cost for a period is as under :
4.5 tons of material ‘A’ at Rs. 150 per ton
5.5 tons of material ‘B’ at Rs. 340 per ton
Actual yield is 9.3 tons

The material yield variance will be
Quimmer ‘er — 4 Lar / g Lair . 200
Quim(mer "9 — 6 Len [ 6 Lein @5 300
Cebsr Flb — Ceuauiiig e 90%
SSGHTGH DS 2 dremLig winar edlane :
Qumrqper ‘o5’ — 4.5 e / gpqp L e 150
Qunger Q" — 5.5 Leir / gqm e . 340
o araruigwimen L — 9.3 Lar
QurLseT FFLL LD IMUTH Seaursd ([He
(A) 78 Favourable

18 (gngsomen)
(B) 78 Adverse

78 (urgsiwomer)

& 86.67 Favourable
86.67 (grgsomen)

(D) 86.67 Adverse
86.67 (urssomen)

(E) Answer not known
afllenL Qg flwelerena
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67.

68.

Under ———— method, each division transfer its goods at the usual
selling price in order to arrive at the correct profit.

o wpenpuliled, sflurer @orusamg samhlu geateurnm Wflejb sy&HEGsmarT
wH@or Wfleyss eupsswrar aflhLemer elenaud CaGuw aliLb.

(A) Total cost plus a percentage of profit
Qurgs Qe LHMID UGSl F56550D

(B) Marginal Cost
auibL) elleney

6 Market Price
SIBISMg 6llane

(D) Total Cost
Qwrss ellene

(E) Answer not known

aflen Qg flweleene

In lodging houses, cost are expressed in terms of
SBIGLD sl (Hdlsaflen 9L S&6NeneTerg) SilgLiLentudled
Qeuafliu®ssiLbh&ng.

Room — day

D{enm — Brerlen
(B) Customer day

QUG SENGWI AT [Brerlenm
(C) Customer hour

cuMlg SengwimerT enfl Grirademn
(D) Cost per month

R LISGHDSTET 2 L_Sseilane

(E) Answer not known
aflenL Ggflwallcvene
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69. For quoting consultancy fee, it has been decided to provide for bonus at
20% of fee payable to the officers and have a profit mark up at 25% on
the total cost inclusive of such Bonus. For a particular assignment, the
cost has been estimated at Rs. 90,000. Compute the consultancy fee that
should be charged, to provide for the aforesaid two elements

g Borgenen s Langens SToralliLghE SDsaTL BLeulysanssdr CLHOIETETET (Ppig6y
Qe (Hererg : _
2flerfls@rsE Ceqss Couammgw slLamsdlad 20 ssaisb GauEbd eapni@es.
ST GO Qwrss o ssellmautia (Qeugbd Cergg) 25 gg6isb. @@ GO L
vanflé@ A ul Herer o ssallane . 90,000.
Cuon@Hudl L @rea(h sniser Lig <Cansmen sL_Lamsams samrédl(H)s.
(A) Rs. 1,00,000

es. 1,00,000

(B) Rs. 1,25,000
5. 1,25,000

«( Rs. 1,50,000

5. 1,50,000

(D) Rs. 1,75,000
. 1,75,000

(E) Answer not known
allenL Gsflwelerene
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70.

The Modern Hotel has annual fixed cost applicable to rooms of
Rs. 16,00,000 for a 300 room hotel with average daily room rates of
Rs. 40 and average variable cost of Rs. 6 for each room rented. The hotel
operates 365 days per year. It is subject to an income tax rate of 30%.

Calculate the number of rooms the hotel must rent to earn a net income
after taxes of Rs. 10,00,000.

e smiEGL dhFwrearg 300 simpsamer Cerarg. g amb Haewrear
Qseay 5. 16,00,000. e ons@ m. 40 @@ brer aum_ams cugdlasluB®Sng.
ogen  synefl  wIQUEDL  QFwe] @M TLmsHE GILUUBD  AHDDEES
m. 6 @b, Qbs sEEh MO warhsE 365 prisdr QewduBn. @ 30%
cugpLomes euflsE 2 L LhES LD,

auflgE Wbsw eumwrend e 10,00,000 @)més GCouamrhi@waie erésaman ianmsaner

QUL ena&5 G 64 Gouait(HLD erenm gHemradl(H.
(A) 86,1é4 room days ‘
86,134 =enp Brlser
4 89,076 room days
89,076 =ievm Bl _ser
(C) 44,118 room days
44,118 =ienm Brser
(D) 41,715 room days
41,715 =epp Bl ser

(E) Answer not known
eflenL Ggflwelevenay
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71. Calculate the fixed cost from the following information :

Margin of safety : Rs. 10,000 which represent 40% of sales

P/V Ratio : 50%

ae;ggasafm_ geaugafler g LuenL_ule Hlevawimer oiL_&seillaneeni sanrddl (H :
urgismiy atey — ap. 10,000 (@s e9puemende 40 sgaigongb)

2,5MU arey 6z — 50 sz6ishd

(A) Rs. 6,000 {RS. 7,500
. 6,000 ew. 7,500

(C) Rs. 9,000 (D) Rs. 12,000
em. 9,000 em. 12,000

(E) Answer not known
sflenL GsMlweilerenar

72. Assertion [A]: All variable costs are relevant for decision making.
gmmm [A] : Dn&TSg THLIHID QFwe SHEHD (g6 ser eT(HHs L.
Reason [R] : For managerial decision making the decision maker
must make use of the relevant costs.
smyeaord [R] : flreuns (pigCeu@Bssedar Gung wpiye| er@liueur, QgmiyenL
QaaeyseneT LWETLI(HSS Ceuetr(HLb.
(A) [A]is true [R] is false
[A] 5, [R] saup.
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] oomid [R] &M, [A] ssnar, sfwner sryanrd [R]eysio.
'6 [A] is false [R] is true
[A] eug, [R] &,
(D) Both [A] and [R] are true but [R] is not the correct explanation of [A]
[A] womd [R] &M, [A] ssmen, sfwner sryamrd [R] @dee.
(E) Answer not known

ellenL Qg Muwelldwvensw
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73.

Assertion and Reason type :

SaHM) LDHMILD STTEHTLD CUEHS; :

Assertion [A] : Fixed cost per unit remain fixed.
sgapm [A] : @ Siodlar Hamawnear Qeaea) HlaowrasraGe G maE.0.

Reason [R] : An item of cost which is direct for one business may be

indirect for another.

sryeord [R] : am aualsssnel 9As0sHastiul L @ Qurmear wH@mT

cuanflagE H(E eDAPSHLLTE @)(HEH&HEMD

«( A] is false but [R] is true

(B)

(©)

D)

(E)

[
[A] seum e [R] &

[A] is true but [R] is false

[A} sl syermed [R] soum

Both [A] and [R] are false

[A] wpmid [R] @rem®ib seupreng
Both [A] and [R] are true

[A] wigid [R] @reinGid o
Answer not known

eflent_ Qg flwelldvena
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74. Fixed expenses Rs.1,00,000
Selling price per unit is Rs.20; and
Variable cost per unit 1s Rs.15.
The Break even sales is

Hybsr Gewaser p.1,00,000
R SlGssnar ellhuener ellena em.20; wHmb
@R Aw@GSHsTan rNUHL Ceaweiarnd p. 15 erafle

gilgwiblene alhHuener ENGIRE
(A) Rs.1,00,000
a5.1,00,000
(B) Rs.2,00,000
5.2,00,000
46( Rs.4,00,000
.4,00,000
(D) Rs.5,00,000
5.5,00,000

(E) Answer not known
eflen Qgflwslldene
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75.

Find the fixed cost from the following data for two years :
Particulars 2015-16 2016-17
Sales Rs. 10,00,000 Rs. 8,00,000
Profit / volume ratio 50% 37.5%
Margin of safety sales as a % of total sales 40% 21.875%
There has been substantial savings in the fixed cost in the year 2016—-17
due to restructuring process. The company could maintain its sales
quantity of 2015-16 in 201617 by reducing selling price
EpEMulbliL @rean® warhseErsater sSseuosaldmbg  Hlaownar Cswene
SETHEH (DS :
oaurid ' . 2015-16  2016-17
el huener e. 10,00,000 em. 8,00,000
&ML/ 2jera] eldlsID 50% 37.5%
Qurgs  elpuearnuile  uMHSTIL 6Ty
elluenaer 6l 40% 21.875%
mgﬁr}mmuq Qewie wenwred 2016—17 b ey a6 Haawnear Qeweie seamlswrean
Celluy gphulLg. Hlmeuend 2015-16 <uib yemge Q@mbs lDueer oieTanel
2016-17 b sy ey eflevend GapLian pped Qewudu(BSS (P bSS .
(A) Rs. 6,25,000
em. 6,25,000
*6)’ Rs. 2,34,375
e 2,34,375
(C) Rs. 3,00,000
. 3,00,000
(D) Rs.1,36,719
. 1,36,719

(E) Answer not known
aflenL Qg flwelldvena
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76. The cost, volume and profit relationship of a company is described by
equation Y = Rs. 2,00,000 + 0.8 x in which ‘x’ represents sales revenue
and ‘y’ represents the total cost. Find the sales volume required to earn a
profit of Rs. 80,000

Y = e 2,00,000 + 0.8 x erenm swenin igan epeid L ssellena, HeTay HmiLd
Qeomusder 2mey @GOG LU Reterg. @Fé X ereug Qworss  eNnHueman
Sjareneuw|id, Y ereug) Qwrss Gewamaund GNs@En. . 80,000 @ysmub Ceuarig 6
el HUIGHET B|6TE GTEUGUETE| GTEITLIENS SeuT(hLlig-

(A) Rs. 6,00,000 (B) Rs. 6,50,000
em. 6,00,000 em. 6,50,000
(C) Rs. 13,00,000 -.eﬂf Rs. 14,00,000

en. 13,00,000 en. 14,00,000

(E) Answer not known
ellenL G flwelcrena
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The following data extracted from the books of XYZ Ltd. are given below:

Particulars For the year 2017-18
First six months  Second six months
(Rs)) (Rs.)
Cost of sales 10,50,000 15,30,000
Profit / Loss (—) (-) 50,000 2,70,000

Find out the amount of sales required to earn a profit of Rs. 7,20,000

&G Osrhssuul(erer udleysaiion ogliueniulied XYZ OG0 gen <smubd
em. 7,20,000 @wLushE igearn ol pueerien oeraneu sanédl (Hs.

efleurid <pam@® 2017-18 |
apge B omsb () 2655 6 Lrsb (m.)
MDD end g men th;tsueu 10,50,-000 15,-30,000
psmD [ @iy (-) (-) 50,000 2,70,000
(A) Rs. 38,75,000 @ Rs. 40,50,000
e, 38,75,000 er. 40,50,000
(C) Rs. 43,70,000 (D) Rs. 44,66,667
em. 43,70,000 . 44,66,667

(E) Answer not known
ellenL GgMweilevena
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78. Sales Rs. 80,000,
Fixed expenses Rs. 15,000,
P/V Ratio 30%,
Variable Cost 1s

aflpuenar - en. 80,000
Blevaowirer Gaewea)— 5. 15,000
< sTw/ere] edldsd — 30%

wrmUELD SLssellenewmens)

(A) Rs. 24,000 (B) Rs. 46,000
em. 24,000 em. 46,000
(C) Rs. 48,000 ..(ﬂf Rs. 56,000
em. 48,000 - ~ . 56,000 -
(E) Answer not known
ellenL Gsflwaelilevane
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79.

Which of the following is not the assumption of cost-volume-profit

analysis?

ereupeuamaupilas ergl L Ssellane—Bjera—@Qarub U@GUUTleller gD
@ eena.

1 Fixed and variable cost patterns can be established with

v

©)

()

reasonable accuracy.
Blenawner wHMILD WLINGSIgL CFwa] (PeDEET r%]umumrrem glevelISgL e
BlmeuiuL_eombd.

Selling price will remain constant at all sales volumes.
SDANSF aﬁlg)usmsm Sjere|seflgb ellhHuenar aflena LTMTLDE @)(HEELD.

Efficiency and productivity will get changed during the perlod
under consideration. : .

Qewad e wHmID 2 HuSSSSHmen LDrrguu@LD

Output is the only factor affecting costs and revenue.

Qseaysar wOHMID eu@eumusamars urdagn eCr smyenfl swriliy Geuaflui
SCT

3 only ' (B) 4 only
3 L Hib 4 o0 @b
2 only (D) 1only
2 1o b 1 wl @b

Answer not known
eflenL_ Qg,rﬂ wisllsvenaw
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80. Which of the following statements are true about CVP analysis?
CVP uguumie) upfl Qereumaiameumhle erg) o amenio?

(1)  Cost—volume—profit analysis is the analysis of three variables.
Qe Sjerey e LGLUMey erarug) epenn wrhlseaflen Luglumiey SLELb.

(1) Cost—volume—profit analysis helps the management in profit
planning.
Qeay 2jere| Gemu uglumie], @eru S L dlé Hliraurssdne e sadmns.

(i11) It fails to measure variations of cost and volumes and their impact
on profit.

Qg Qeway wHmb Qsn@dseller wrmuThsar LHNL @TUGHD Sjeundler
ST&E&SMG ereilg Saubl N g

(A) (1) only

Q) e @Go
(B) (1) and (i11) only

(1) wHmb (111) wi FHib

6 (1) and (i1) only

(1) wHmb (1) w Hib
(D) (1) and (i11) only

(11) wHmwb (1ii) wL @b
(E) Answer not known

aflenL Qg flweildena
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Assertion and Reason type :
Fmm) HMLD STTERTLD UENS :

Assertion [A] :

gapm [A] :

Reason [R] :

a’zmjszmnb [R] :

The ascertainment of marginal cost and of the effects on
profit of changes in volume by differentiating between
fixed cost and variable cost.

Beveowner Qe LOHMID wIYL Cswe yHusudmss GeaL Gu
Goumun(® srairugen epaid eaflbd CFwemeusd sem_Hlsea HmiD
Qsrgd wrppsHer Georusdler Wsmer elemereyser o Ml
QeFwwtu(pib.

Variable cost are charged to operations, processes or
products while fixed costs are written off against profits
in the period in which they arise.

wrmid Qswelser ereamlg QswouUTHSE, [FLOUPMDSET HDES)
swriliiysemms  wropuu@damer, <G5 Crrsde Haawmer
Qseveysar el 6P  sTsded  e@rusHnE — adirs
eT(psLILI(HSleTme.

(A) [A] is true; but [R] 1s false.
[A] &f; <pemed [R] seupmeng.

]
B) [A]
[A

]
*{ [A]

an

d [R] is true; but [R] is not the correct explanation of [A].

wpmib [R] ef; epemméd [R] eremug) [A] Qe sflwnar efonésid <ide.

and [R] is true; and [R] is the correct explanation of [A].

[A] womib [R] erenuig &f; wpmiw [R] eremug) [A] @er sflwiman eilenéaid.

(D) Both [A] and [R] 1s false.
[A] wpmw [R] @remGib seuprens.

(E) Answer not known

eflent Qs flweleene
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82. Fixing the value of an employee depending upon his productivity,
promotability, transferability and retainability is the core of

@@ cafwfler o.pusdsdpen, sas@eliy Sper, uflbrHDL, LHND 5585 eSS
< Flwueunenns Aaran(h, ieurg wallienL sert_Plb wpenmeni GTerGLIMLD.

) Scholastic Reward Valuation Model

swailent Qeugod LI H wrdf

(B) Aggregate Payment Model
Cwrsg sLewr Il

(C) Haistorical Approach

| UTRTHY AGIEPED

(D) None of the above

Cuhen il erenaiuylb e

(E) Answer not known
aflenL QzMuweldvena

83. The aggregate payment approach in Human Resource Accounting was
developed by

weafls euer samsdlwaier, Qrss sl amb GFaussb WpenHITeg) 2460

2 (HeUMTSSLILILL§|.

(A) Myers and Flowers
Guwi woHmib Wereure

(B) Hermanson
Cemmerae

\eef S.K. Chakraborty
S.K. sgsyuisd

(D) Shukla
FHEEDIT

(E) Answer not known
eflenL GgMlweiena
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84.

85.

A company has a capital of Rs. 3 crores and has earned profits of
Rs. 33 lakhs. ROI is 12.5%. If the services of a particular executive are
acquired by the company, it is expected that the profits will increase by
Rs. 7.5 lakhs over and above the target profit.

Determine the amount of maximum bid price for that particular
executive.

om Poeeasder apsd m. 3 Camg wHmb Gerun . 33 olgb. Hnwsdar ROI
12.5% em @Il odsrfller Cemeuamws Guppred ubEDILSS6 @mUD
7.5 ool sb epumi SiFsb Sent @b eren erdlTUTTSESUILHS DS

<265 GO L ofsrilien oiflsul g ge ellmauier Beraeusg Siorealldsseb.

(A) Rs. 45,00,000 (B) Rs. 33,00,000
em. 45,00,000 e. 33,00,000
"(C) Rs. 12,00,000 ' \(ﬁf Rs. 96,00,000
e 12,00,000 e. 96,00,000

(E) Answer not known
el QsMueierena

For the purpose of valuation of goodwill, under super profits method, the
calculation of capital employed does not include

GLUUT @mu (wpenpuly, pableemrard’ wHbuu@n Curg, Hineuassar ppaged

iU seirLHlul Carggs Qanarerd sl _mg).

(A) Land and Building Investments
Hleod HmID &L 1g L Lb (PpHed(H&aT

(C) Sundry Debtors (D) External Liabilities
sLameflger Qeuafiiym Qumrmtiyser

(E) Answer not known

eflen Qgflweidene
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86. Goodwill can be valued under the following methods.
BevblavenTantld emeumHd wpenmaatied LG LU ng.
1.  Annuity method
UL (penm

2.  Average profit method
grmel ey (penm

3.  Capitalisation method
PLPRVSEIDTSSHE (LPENDM

4. Super profit method
GLILIT QOITLI (LpEOm

5. Intangible asset method

(e @amgg LHISLEH wpen
@) 1,245 12,8, 4
€ 2,345 D) 1,2,3,5

(E) Answer not known
sllen. Ggflweterene

87. A bond whose par value 1s Rs. 1,000 bears a fixed coupon rate of 12% and
has a maturity period of 3 years. The required rate of return of the bond
1s 10%, What 1s the value of the bond?

@@ sl usslnsdlen wps ellenew ep. 1,000, Siger aiiuen ellgsb 12% @b, s
Aoy ST epenpraT(Hger <G, sigean Ceaeuwimar eumeurl elflgn 10% ereafl,

Sigen wHUITH ————— < GLd.
(A) 1050.44 ({1049.73
(C) 1048.24 (D) 1050.98

(E) Answer not known
allenL Agflweierenaw
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88.

89.

When the estimated cost per unit is fixed higher than the actual cost per
unit to provide the normal loss due to certain defects inherent in the
process is known as

Qungper 2 Hugdlulled erpuBib Gudurer bl sems sl D QummH @ Hedlar
wEINH L ssellanaen 2 e 2L bseilamaenil el iflsons wHiihH Causea

(A) Realisable cost method (B) Reserve cost method
QUDSES LGselene (Penm &ML S|L_&&6llane (penm

(C) Replacement cost method YﬁrInﬂated cost method
ugedl 2iLssellena (Lpenm Fal LUl L L &s6eieame (penm

(E) Answer not known

eflenL Qs flweldena

A company’s requirements for ten days are 6,300 units. The ordering
cost per order is ¥ 10 and the.carrying Cost per unit is ¥ 0.26. The
economic ordering quantity is

2 Hniwsde LS HrsErsstar Csma 6,500 SiwEsar. gmans dewa) - T 10, o
2 enants g sLobg Qe Gswea| T 0.26 ¢ iwEsE Sésa deraripsd iarey

(A) 70 units

70 i@ser
d 700 units
700 sie@ser
(C) 7,000 units
7,000 e@s6r

(D) 70,000 units
70,000 sjo@ser

(E) Answer not known
cllenL Cailweievenay
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90. The main object of EOQ 1s

EOQ - arenusen @nléCsmar

(A) Minimizes the total ordering cost
Qworgs i Qewene @Ganns eleaaude fireruiss

(B) Minimizes the total carrying cost
Qwrgs swhg Qewqib Gemamae Gmnbs elenaulled Hliiammuiss

(C) Minimizes the total inventory cost
Qorgs srsdler eflenawanw Ganhs Qsweile Hiramruilss

sﬁ{ Minimizes the cost of ordering and carrying the stock

< TLIT LOOHMID Fohg Geawaib Geweame Gamnbs elamuile Blramuiss

(E) Answer not known
allenL Qg flweldane

91. In capital budgeting, the discount factor in computing present value of
cash inflows depends on

gp@gar LmH/auEssadla sfle/sererulg @Qarmn wélmu sarédHin Curg aamss

EMMHGIETETS).

(A) Bank Rate
curdl 69 &lHLD

(B) Interest Rate
aul_lg a4l

(C) Repo Rate
MG efldlgid

) Cost of Capital Rate
epgend Gawey efldlsbd
(E) Answer not known
eflen Qg flweleena
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92. Time value of money is considered in

LuewTSSHlen sre Sl eramug) LAemeu(mLd 6T L Lgdled evswimeriiL(Hdmg?
& gl (hiD 6THS & 8l

(A) Master Budget
Wppewwren aure| Q&ae S b/urs(
(B) Flexible Budget
Qpdlpb eure| Hseawey FLib/urE@H
(C) Production Budget
2 HusH aurey QFwey Sl b/ur@h
‘{f)( Capital Budgeting
epavsan aure Qewaey Sl b/LTSH
(E) Answer not known
ellenL Gsfwsievena

93. Depreciation is included in costs in case of

wpenpuied CHnTemd i &a58l6 2 drarL_mkiGSns.

(A) Pay-back method
glpou-tegsse e
‘6 Accounting rate of return method

sanrsSlwe rl(h eSldlg (penm

(C) Present value index method
BLUL wdy GHlui G (per

(D) Internal rate of return method
<215 FL(H eil$l5 pepm

(E) Answer not known
aflenL Qs flwelene
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94. When NPV is — it means that the investment earns a rate of
return equal to the discount rate.

@ S gdlen By Hlap whiy —————— s QmEEn Cung), WYsSH saTEnLIg
el lz55\hE swwnen aumeunll elflssams m HEmg erenm GLIMBATLIHLD.
(A) one
e
'({ Zero
LRBuwID
(C) less than one
RATMHGLD GHenmeUns
(D) two
AbEC]
(E) Answer not known
aflen Qs flwelcrene

95. Project’s expected monetary loss or gain by discounting all cash outflows
and inflows, using required rate of return is classified as

R L gdlem uemr 26T UL b pmib uew Geuafl QUL Fms, m @GN L eumeums
ldlssdler ger@Eruy Qalg, oMU BayLSmE sasHHaums —————— (PO
ereorLIL (L.
W Net present value
Blar s0GuTsw iy
(B) Net future value
Hlar erdliasme iy
(C) Net discounted value
Hle gem@pug. oy
(D) Net recorded cash value
&y udley Qawiul L uewr Wiy

(E) Answer not known
cllenL Gaflweldvena
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96.

97.

Internal rate of return method considers the

2 6T GuU(feuml edl&lFD ! LHOD ———— B HHSH®
Qarent(h) samssLiuhdpns.
1. Time value of money
vanrgSlen GCoiy iy
2. Initial cash investment
<4, TDLI LIGwT (PS&(H
3. Goodwill of the business
Blmeuengdlen pev6levesranTid
4. Scrap value of the asset
Qsrsder @m& (@vdlymis) iy
A 1,23 B) 2,3,4

(C) 1,3,4 1.2 4

(E) Answer not known
eflenL Ggflwelerenan

The cash inflows on account of operations are pr(,sumed to have been
reinvested at the cut-off rate in case of

wpenliulg, Bneuaser BLelgsmaseflen STTMTOTS QI(HD LG

U LSmg Bamhib s <1 elds58d wn g H Qaiudiu@ib erem &ms LGS DS

(A) Pay-back method (B) Accounting rate of return
Smou He S5 (penm STEEIW aumeum elFlg 0

( Discounted cash flow method (D) Present value index method
SET(EHLILG. LIGRT L L (Lpenm sHCurensw Sl @HuSLH (e

(E) Answer not known
aflenL Qgflweldena

67 Cost Accountancy/2022
[Turn over



98. Cash flows are adjusted to incorporate the time value of money in which
of the following methods :

LewTlLpsad  Spsar ahs  (pepuildy uamsdlan stewSLEE appeurm il

QevwdiuBd&Eng ?
(1) IRR

2 6T cumeumL el s
(1) ARR

grmafl eumeumis edldlsn
(1) NPV

Hlar sHGLrengwt i
(iv) Payback period method
9%1@131&15} QFeI&gID HTe SaTES(H
(A) (1) and (1)
(1) womid (11)
(B) (11) and (1v)
(11) hHmib (1v)
& ) and (i)
(1) LOMHMILD (111)
(D) (1) and (111)
(11) womo (1)
(E) Answer not known
eflenL Qgmwelldena
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99.

Net present value is the difference between and

Bsr spCuregw wHly eremig ————— wHmD ————— Qe G 2 6Tar
cllgSlwingip.
(A) cash received and paid

uent aue, CFeway

(B) investment and income

WS (), Gu(HEUML
{ present value of cash inflows and present value of cash outflows
sHGumeng W HUILITET Liewr 26T L L b, Geuarfl gL 1d
(D) receipts and payments

au(pLomentd, QFeaiaid

(E) Answer not known
efleh Qs flweidene

100. Planning, evaluation and selection of capital expenditure proposal is

known as
AL 1AL 60, wHISH wHmib ppesas deweias S sms GCaimbbsHlug) eerg)
capital budgeting
epavgaen LGl
(B) capital structure
ELPEDSHET B EDLOLIL
(C) working capital
BEDL_(LPEDM (LPSHE)
(D) cost of capital
(PS BFHTET 6(HLOTETLD

(E) Answer not known
aflenL Qs flweilvena
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101. Which motive emphasises the need to maintain inventories to facilitate
smooth production and sales operation?

@@ Bneusnsden, graflmluamu ugmoiléseybd, &rear 2 HUSHEE e @Esse|,

el HLIenETenIL 26186l H8H6| D —————— answmeriHEHmg).

'Q( Transaction motive (B) Profit motive
ufleurgsenen Crmésid e GEr&sD

(C) Precautionary motive (D) Speculative motive
(panblengsflsms 2015 GBI&SLD

(E) Answer not known
eflenL Gglweilevane
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102. The procedure for change of registered office from one city to another

within the same state is by passing

udle) Geuwltiu’e seassas Gr wIHesHd oder @m BEFSHL @MHbs
wHEDTH BETSSDHE LOTHMCUSDSTET HEDL(LPED

L

IT.

I11.

IV,

(A)

(©)

(E)

Ordinary resolution and approval of company law board.

sngmyenr Siorend womd Hnwsdar sl aurflugdler @ugd Gubmme
Cungionerg).

Special resolution and approval of central government.

Amiiy Sirorend wHmib wiHu iréler signdaw uppre Curgmerg).
Ordinary resolution only.

grgmyenr Smorend wHGw Gurgioreg).

Special resolution only.

Apliy Srwomend HlenpGoupdlammer Curg)oraig).

IT and I are correct (B) III and II are correct
IT whmib I swrengy 1T wihmyn 1T sMwimenrg
IV and I are correct ) III is correct

IV womib I sfluwirens, 1T sAwireng

Answer not known

allenL Qg flweleana
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103. A public company can be converted into a private company only after the
approval of the

UUsNEEL Yn@ster @ Quirg Hneasms salurt Hneieions

LOTDHMD (LPigULd.
,ﬁf National Company Law Tribunal (NCLT)

Casflw Blmeuen &L Sriumugser

(B) High Court
o wirhd wenpsSlen

(C) Supreme Court
2§54l oanms e

(D) Company Law Board

T Bmeuer sl curflwgden

(E) Answer not known

allen Ggflweferene
104. The company must deliver a share certificate within — period

after the application for registration of the transfer of shares.

UBIGHamer WIHneusHE elarariibss a1 ————— &@er ukiE sTads)
eupmIsSLILL. GeuenT(Hib.

\Kr 2 months

(B)

(©)

D)

(E)

2 DTS BISET
3 months
3 OTGHIGET
5 months
O DTGEIGET
7 months
T G BIGET

Answer not known
elenL Gaflwelvenen
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105. Payment of Bonus Act 1965 is applicable to every factory and to every
other establishment where —————— workmen are employed on any day
during an accounting year.

R(h SMEHWD yamge THHmen Qgmpflomemiser UamlwuTODS &igw 6THS R(H
Qsmfparena whHmib BmeuarsHnE deasgiul L Gurers s 1b 1965 Qunmhgid
\Af 20 or more workers
20 vz 25DH@E G CgmiflemeTiaer
(B) 10 or more workers
10 e 2150 G Cgmflemeriger
(C) 50 or more workers
50 si@eg 215m@E G Qs mlemeTiTger
(D) 30 or more workers '
30 ez 25H@E Coe smloreriaer

(E) Answer not known
ellent QgMwedldane
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106. The Employees State Insurance Act, 1948 protects the interest of
workers in contingencies such as

earfluiisaflen wrflos smS & slib, 1948 shOswerss Qsmfleorerisaie

BEGTSHENET LITGISTEHS D).

i 7

Sickness

Grmu

Maternity

wsUGLmy

Temporary or permanent physical disablement

SH&Tedls g HTHST 2 L oareid

Death due‘to employment ‘injury resulting-in loss of wages or
earning capacity

sarflul @il g sOUTHEGDL  SHoanr  pfweipdler  elenemeuns
Geusney &MUILD STJETLONS LDIJETLD

Select the correct answer from the codes given below.

&G QarRssriu_Hdrer @Hul e Sig L ude sflwrear eleamw Caib0s[H és.

(A)

(B)

(©)

Only 1
1 Wi @i
Only 2
2 ol Gib
Only 1, 3, 4
1, 3, 4 C.Gib

ug§’1,23,4

(E)

Answer not known

eflen Qgflweleeane
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107. The occupier of a factory under the factories Act 1948, is required to

appoint a welfare officer where number of workers employed are

Qgmfnsremesar s 1948ar S @m po et Hludlss, Asminsremeauie

ueanflyflyb Qgmflonearisafier eramenilsams eremuig)

(A)

©

(E)

200 workers (B) 300 workers

200 Qs mflemariser 300 Ggmfererisar

400 workers D) 500 or more workers
400 QgmPemeriger 500 =ivevg =213m@E Gos

Answer not known

eflenL Qs flweldena

108. Which are the objectives of the factories Act when amended in 19877

1987-& Hmssb Qewiwuiiul L Qgminsremser gL gdlen @N&GCaTarser ereneu?

1.

A)

(&)

Promotion of collective bargaining.

gl () Cumb Cuseuams oa&EelS560

Prevention of illegal strikes.

gL e9Cyg Ceuanew Fimssmisamers &hSse

To ensure adequate safety measures.
Gungorer LTgSTUL BL 6y Seassamer 2 midl Ceuge

To promote the health and welfare of workers employed.
veflyfluyb Qgmflerarisatenr <,Crmédlun wHmb pomer GCLLLHSSISW

1,2 and 3 B) 1,2,3and 4
1, 2 womb 3 1, 2, 3 wpmb 4
3 and 4 only (D) 2,3 and 4

3 wHmib 4 I Hb 2, 3 wpmyw 4

Answer not known
e Ggflwelevena
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109. Essential features of a cheque
snGgmaneouldler p&Hi BbemIGeT
1. It 1s always drawn on a specified bank.
Ba rGungId e GO L eurudwimerflLib euepFwliLI(Bib.
2.  Itis always payable on demand.
@\g CorameusGanu CeaydsLiLi(pib.

3. It is an instrument 1in writing.
88 TWEID @ esembd.
(A) 1and2only : (B) 2 and 3 only
1 whmbd 2 bl Hib 2 wpmiw 3 wLHD
, \6 1,2 and 3 ; (D) 1 and 3 only
1, 2 oy 3 1 whmid 3 w_(Hbd

(E) Answer not known
ellenL_ Clgflweievane
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110. Assertion [A] : Cheque is dishonoured by non-payment.

shm [Al @@ s1Gsmane Larb @oarsstd Sl sieyiuiu®GEng.
Reason [R] : Cheque is always payable on demand.
gmyerd [R] : s1Csmene erliQLITpg G Camismsauian Qeass Couam(Hib.

M Both [A] and [R] are true and [R] is the correct explanation of [A]

[A] wpmibd [R] @ranmio efl [R], [A]en eflwner edarssid

(B) Both [A] and [R] are true but [R] is not the correct explanation of [A]
[A] wpmi [R] sfwreng wpeméd [R] srenugy [Aler sflwurer efletésiodea

(C) [A] is true but [R] is false

' [A] sflwneng [R] seupnens

(D) [A]1s false but [R] 1s true
[A] seupreng [R] eflwneng

(E) Answer not known
allenL Gsflweilerena
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111. Assertion [A] : The partnership Act does not make it obligatory that a

firm must a deed in writing.

gmon [A] D sl Lnmemepld LD eT(PSE LTeuns e BHlmeuand LgHrb

meud P (s Geuam(Hib eremm SLLmwuiL(hSseleame.

Reason [R] : Itis better to have it in writing to avoid confusion.
smyenrd [R] D ewuusms seiiés o(pSg Lieubts USSID e mLLg
OGS

A [A] 1s true but (R) 1s false

(B)

(©)

D)

(E)

[A] erergy efwneng <yemmed. [R] seummans
[A] is false but [R] is true

[A] erenug) seumneng) <penmer [R] sflumens
Both [A] and [R] are true

[A] wpmib [R] @remr@®w sflwreng

Both [A] and [R] are false

[A] whmd [R] @rewm®iid seupmeng
Answer not known

ellenL Cgflwelawame
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112. In the case of insolvency of the drawee, a bill should be presented for
payment to the

Iy 2 emgweld euequiul L et Seurer@h Ll ssdle uamrd HunesDHE WIHI
2_aTlg L) ——————— FAAGSILHID.

(A) Agent of the drawee

cuemutiuLeufler pseuflb
@ Official receiver
sdlarriic GrgHlglull b
(C) Acceptor for honour
wdliueflsEs ehmeulib
(D) Maker
swnflggeuflid

(E) Answer not known
eflenL Qgflweleena

113. In case of cheque as negotiable instrument, the payer two prepares the
cheque to pay the dues is called as

Qeeeuranfl 1pM e sTCsTmaUlD, Hlayemeais Csrans QsqisgiusHans sTGEsTmOmW

WM QEFILIeUT ———————— 6Tam A PESLILI(HAUTTT.
(A) Drawer
QUENTHSEUT
(B) Drawee
cuenTWLIGUHmeuT
(C) Payer
QEaSg e
\J Drawer and payer
U THSeUT HMID ClFey g LelT

(E) Answer not known
efen QgMwelerena
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114. Which of the following statements are not correct as per the

characteristics of a negotiable instruments?

Yemeumid  sapmsetied eTeneu eTeneu, WIHMIPE®D peuaTmGelaT U@L ST

Qg My (héHNDEN6D - HEUDTET FaHMIGET TENGU GTENE?

L. It must in writing
SL_L_MTWILONE 6T(PSLILIL g (Fh&& Gauam(hLd
II. It must be freely transferable
erefigled wrHD&EmIgwsTE @) (s Ceuen(hib
III. It must be registered
ugley Qeuiiugd g mEse ieuflwnmELd
IV. It mustbeblank
uemrodlliy @HlUbGuLmod Qeunm peuamons @) msse eudlunmEd
(A) Iand IV not correct
I o IV seupneng
\K ITI and IV not correct
IIT wpmw IV geupreng
(C) II and I not correct
IT womib I seupreng
(D) III and II not correct
ITT womw IT seupnens;

(E) Answer not known
ellenL A Mwialcrency
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115. Which of the following goods is not in existence at the time of contract of

116.

sale?

Qungplser ellpuener puLBSSSer Curg QmUge GleoTss)

A)

(©)

(E)

Specific goods ) Future goods

@MU L QummLgerr ardliare QummLser
Ascertained goods (D) Unascertained goods

2 miFCelwiu’ L Qurmmlser o mSHQeliwiuLrg QummLger

Answer not known
allenL Qs fwelldency

When the goods are delivered to the buyer on ‘approval’ or on ‘sale or
return basis’ the property in the goods will pass from seller to the buyer,

when

Qurmsdt aumhiGUAIMES @uusela Cufle) iwag ‘elbumer idog =is

HAmuysed Gufle’ Qumrmisdr eprsuu@bGurg eiGurg  Gurmlsefier

Qenggient_ento eflhLeulLb G (HHSI 6uTh & LI6d(HE LMHDOLUIL(HILD.

(1)

(i1)

(A)

()

the buyer accepts the goods

umBIGLeUT QummLseneT gHmid Clemerdmm,

the buyer does something which is similar to the act of accepting
the goods

aummi@ueur CurpLseamer gpmé Csrareugn@ mrLnar gGsm 6 Qawena

Qe .

(1) only (B) (11) only

1) LLED (1) i Bo

either (1) or (i1) (D) neither (1) nor (i1)
(1) ivag (1) (1) wHmb (11) Gome

Answer not known

eflenL Gafwelevenao
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117. Statement I : Oral acceptance is valid acceptance

N | : eumbeul gLy eflwimen grHLINELD.

Statement IT : Mere silence is not acceptance.

<ifl&sens 11 ¢ Geumib Glerarons @ HULIE GFHUTSTE.

(A) only statement I is true (B) only statement II is true
<iMses Ll Hib & <2féens I wl_Hb &

'(C( both statements are true (D) both statements are false
<2ifsens I wpmib I sflwreng <iflsams I opmw IT seuprens

(E) Answer not known
aflen Qs flweldrene

118. A contract is an agreement which is enforceable by law. This conditions

of enforceability are laid down in sec ———— of the Indian Contract
Act.
PUUBSLD eTarugl UL Gdlamug  Qeuerssl L Geargw o Leaugsms. Qbs
bewenssn @hss Hubpsomasda @b @uubss siLb ——— Gfleflar &b
Gar@asiul_(Hererg).
(/Sec. 10

Gfley 10
(B) Sec.9

Gfley 9
(C) Sec. 11

Gfley 11
(D) Sec. 8

Gfley 8

(E) Answer not known
aflenL daMlweldenen

Cost Accountancy/2022 82



119. Find out a wrong statement from the following with regards to
Contingent contracts

120.

wCssemswrs CrRHb Hlane| Glss aghulL euupsssler Guile QeubmieT seupmer
SNEDSW SerL_Hlwia]b

(A)

(B)

«

D)

()

A contract to do or not to do something

Qeliw Seveg CeFlwumned @) mss aHu B UUIBSLD

A contract may or may not be happening in future

Qenamafiey penQumid g BaLCuprod Gum@gb Blaspeser @GS
@UILIHSLD

A contract, happening of a particular event which is certain

Bléswid penQupsamiqw GHUGL L flspe| GHliss qgju@g,;_suul_l_ @ULBSLD
A contract, the event must be collateral -

Qenemrions @ H&s gl Blswpe] GNlss gnu@ssiul L @UubsLD

Answer not known

sllenL Qsflweilaena

When two persons make identical offers, that is, similar in terms,
conditions etc., to each other without having knowledge of each others
offer is known as

Qran® puisdr @eumsEEsTmHauT CQgfumnCotu @meumbd @Gy wrSfurer

dAfpepaar wHML Blubsmasmers Osram.. @Gy wrdlfluner  s@ss@maT

GULDMI(G 6L CTEITLIG)

(A) Counter offer Mross offer
GTElT SIS GNIHE FRNS

(C) Standing offer (D) General offer
Hleneowines Fayens Qung) sayens

(E) Answer not known

aflenL GgMwedleena
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121. Statement I : Agreement without consideration is always valid.
sifsems | . eSS  Gemaremns @UUBSD  ererng  erGumgihd
Qaae)uiguim@Lb

Statement II : All contracts are agreements but all agreements are
not contracts.

<sisems 11 D Qasg 2 LaUGSMESEHD  QULIHSD I  EISS)
RUILHSBIS@EHLD 2 L6l S60s @)e0enav

In the context of the above two statement, which one of the following

codes 1s correct?

Yemeumid GHuIL g6 ppeoid Qs @re® siddamsuilen sflunaramel ereneu?

(A) Statement I and IT are correct
<2ifsams I bhoin omsms 11 sflwreansg,

(B) Statement I and II are incorrect
<ifsans I whmin oifsms 1 sflwunears sdwe

'6 Statement I is incorrect and Statement II is correct

Sifsans 1 seuprang oifisens 11 sflurang

(D) Statement I is correct and Statement II is incorrect
2ifgams I aflurang oiMseams 11 saupransg

(E) Answer not known
ailen Qs flweidene
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122. The Nationalized Banks are regulated by the provisions act of

Cailw . wwwrGslLl L. aubdlasar

o LI L D6y,

(A)

(B)

(©)

Banking Companies Act 1949
curaidl fimeuammiser &1 1b 1949
National Insurance Act 1972
Codlw smui g e 1b 1972
Reserve Bank of India

Gndlw fere eumid

Bank Companies Act 1970
cumidt flmeuard b 1970

- Answer not known

eflen_ @gflweleene

123. Hospital Auditing includes
LO(ThSSICULOGNE Hemil&end: <L TBI(EGLD

(A)

(B)

)

D)

(E)

Visiting Doctor ledger
BU(HENS LOHSGIeUT ClevL s
Patient’s Registration Fees
Crmuraflser ey giL_ewrid
Income from Investment
PES136 Q(BibE! QuBLOTETD
Agreement with Doctors
LD(TBS)6UT&(@HL-6T GLILIHELD
Answer not known

eflenL GgsMuwisilerenan

sl Gdlen FUL Sl RISEHES
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124. Characteristics of internal control can be divided as
fphs 286 s HUUTLEH e G euensLLHID.
1. Personnel level Characterization

vewflwmeri Ao nAwdLsar

2.

(Institutional level objectives (B) Industrial level objectives

Blpeuad gnipg Hplibuedyser Qzmfev sminhs HmUdweLser
(C) Client specification (D) Management level
QUM SE&WITeTT SnUINwidLser " Bireunagdlen Aplidwevser

(E) Answer not known
el Asflweferene

125. Arrange the following steps involved in bank audit.
cunisl sanflsensullen Ligsener euflangliui(Hégls.
(1)  Checking of other items of assets
Qansgisener #fUMTES
(i) Evaluation of internal control system
255 (HUuT (B apanm S
(i11)) Checking of Liabilities
QumrmiiLsener &flumigse
(iv) Checking of advances
curaidl eulpmIdlL (e Lanseng sfluimisga
Aa) @), ), (Gi), av) | (B) @), (), (1), (v)
\d (1), ), (@), (iii) D) (v), (i), ), @)
(E) Answer not known
ellenL GaMweferene
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126.

127,

Cost audit enables the to determine whether they are
getting a fair return on their investment (or) not.
Sjeunsaflen gl iged FHlwmuwner ei@Lrerd  FlL Ul L gT

Gleenewi eraLms SiL&s Qnss safléans SroraflsSng).
(A) the consumers

misTGeumT
(B) the management

Hlireumaid

6 the shareholders

LGS
(D) the government

S{TEFTRIGLD
(E) Answer not known

aflenL_ Qg flweferene
Audit of management actions and decisions which have a bearing on the

finance and expenditure of the concern is
BiTeuTs pLeuy&Emssar wHMID (Pigesar sbubgslul L saflsmsuie SnsTamib 6rHhs
ganflaens B8 womib CQFwsiamsmer 2 drear_&dlwig
(A) Efficiency audit

Qawiddlperr sanflsens
() Proprietory audit

saflyfleno ganflsens
(C) Post and vouch audit

srbsmpsHu LHnD 2 N samfllsmns
(D) Tax audit

ouifl sanfl&ens

(E) Answer not known
elenL Ggilwelsvency
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128.

129,

Cost audit is a verification of cost records to estimate the
efficiency of a business.

958 wHIYG safldms eaug L ss wHIY sarsGabadllar  udesar,

Blmeueng e cuanflgss Hlmer GuobuL e drarsT erem &fluTiés 2 seydlng).

(A) External
Gleuafliym

f{ Internal
2 LU

(C) Both Internal and External
Qeuaflym whHmib 2 6T

(D) Manufacturers |
2 pusdwmerfler -

(E) Answer not known
cllenL Qsflwefevene

An auditor of Government company has to submit his report to the

@ 2Te Blineuasdler dlsmasen senfldamnswimer i ib gomiss

Gauaim(Hid.

(A) shareholders
LImIGSTT
central government
S BiT&

(C) ministry concerned
FOUBFSUILIL L {eNLDFFSLD

(D) management
Goemarento

(E) Answer not known
aflen Qs flweiwene
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130. An unqualified audit report is a

5@ Coanauinm safléams Pléms eremug)

{ Clean report (B) Negative report
&&gomern/ Hlumunrer ibléemns erdlifenn iM&ens
(C) Disclaimer report (D) Qualified report
LML S Hl&Hes @ wnen Hsms

(E) Answer not known
ellent Qg Mweildeney
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131. Which of the following statements are false with regard to auditor’s
report?

saflsmswnent ibléms Qsmrurear Weme LD shnsaile ereneu Seunmareneu?

1. Audit report is an expression of opinion.
saMEmS AMEMS eTang) (1 HHSams CeualliLBEHD HEHSWTELD.

2. Auditor cannot held responsible for the report which he has made.
saflamaswneri, iUl Siaflss Sifléamad@ QuUImLILTS (Pl LITs)

3. Auditor should certify that the accounts depict a true and fair view.
EEEGSET 2 FTOLWTS OMID BWMULIE 2 ETeTaT GGG Semtlsans et
snenm iefléss CeuanT(Hbd

4. In report, auditor is expected to guarantee the accuracy of the
company’s books
saflsams flsmsunearg saflsamswurert flneue Lsssmsalea goalusdHns
2 §8lpaunsib Diefla@En cuansuilar @)(Hés CouammHib

(A) 1 and3only {3 and 4 only
1 wHmbd 3 wl @b 3 wHmb 4 wHd
(C) 2 and4only (D) 1 and 2 only

2 wHob 4 B 1 wHmid 2 wlHibd
(E) Answer not known '
clenL QgMwelevene
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132. A Private Company is deemed to be a Public Company, when its
@ saflun Hipeuend, Gung Blnpeianons smsruHin
( Average annual turnover Rs. 10 crore
grmafl opar® eumeumi en. 10 Gamg
(B) Average annual turnover Rs. 12 crore
gymefl uer® eumeumis ap. 12 Camg
(C) Average annual turnover Rs. 15 crore
gymafl e ® eu@meumi en. 15 Camyg.
(D) Average annual turnover Rs. 20 crore

gynef e[ eugmeum ap. 20 Gamg.

(E) “Answer not known
allenL Qs flweierenay

133. One of the merits of is that the profit and loss account and
the balance sheet are prepared without any loss of time.

mu BLL  sausEh, @iy Hlee @illygb sTobsmTpsSspsE 2L LLToeD
gumiliuGgerg) @G HETENLOWIM(GLD.

) Internal check

2 61 Gangenen

(B) Internal control
2 6T &L_(hum(h

(C) Internal audit
&S Gt Hens

(D) External audit
LS Fewtlsens

(E) Answer not known

aflenL OgMwefebenen
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134. Audit risk is composed of many factors. Which of the following is not one
of those factors?

saflsens puss vOCalm Y USSHISSmaET &@TGTTI_HEEE}DQJ ECp Qar@HésiiulL
sryantlsafled eTg) FIDUBSILIL TS 24 L1658)?

6 Compliance risk

G RTEHLDTET Y, LISF|
(B) Detection risk

ST NS0 LIS
(C) Control risk
SLOUUT( U8
(D) Inherent risk
2 GTETHS < LIGT)

(E) Answer not known

aflen Qgflweiléene
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135. If a company auditor gives false evidence intentionally, he can be held
for

@ Bimeuar saflsamawnert GCoa(HEwaGn Saummear sMIsms FOMASHTD e

Goev Ulg BL_GUIg &60& 6T(H&&SLILI(HID.
(A) Negligence
Sl &uwib
(B) Misfeasance
geumner Clawa
(C) Breach of contract
@RUUBS e
W Cltmdnni Habiliy
@Dmeflwed Gummliy

(E) Answer not known

sfenL Qsflueidema
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136. Report given by an auditor when the auditor is unable to form opinion in
the context of Inadequate information given by client is

QUG SESWTETITED eUPBISUULL. gaeusd Cungonargns @dwng ULssdld, 6m
SeflGEenaIITeTT Sang Guiens @Ghblenauile eurmd efldsliuBib flésms
(A) Qualified report

@S e &

(B) Negative report
erdlioenm SiMl&ens

*(( Disclaimer report

DMILIL] SIDI&nS

(D) Clear report
F&55 M

(E) Answer not known

elenL_ @silwallevenay
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137. Consider the following stages an auditor has to undergo before
commencing a new audit.

gantlsenswment Geruibm GCeuanrigw eudlseflen cuflanes

1. Ascertain the scope of audit work
gewtlGena uenfludlen Crréasd

2. Knowledge about the business of his client
GUMg HenGWImeTiTlem euantlad L mdlwl oifla]

3. The agreement with the client
eumig SenswmerGrm(h Gleug QarerL UuubsD

4. Instructions to and information from the client.
QUMY SESWITET(HEG ST Geuamqw wHmib .Gup Ceuamyul SseIMSET WHHID
2oy pigee

What is the correct sequence of the above stages?

Cupaenr Hlapeler flwmer cuflensenws erps)s.

(A 1,2,8,4
B) 1,3,24
@f 3, 1,24
D) 2,1,3,4

(E) Answer not known

cllenL Clgflwelevenaw
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138. Any non performing assets for upto two years is called

@ e < er(hser sueny HawduL g Carsg sser erenLiLi(HLd.
(A) Doubtful assets
6055 OlFTE g SaH6T

(B) Loss assets
BLL QFTE 5SS
(C) Standard assets
Hlencowimer Cleng g saer
| ?{) Substandard assets
glenantblanay OlFmg g &aer

(E) Answer not known

aflenL_ QgMwalceney

139. Scope of auditing will depend on, ' may be conducted to
determine the accuracy of account data.

BL&SILBEZ, SasEsEd sreysdr geodlwnns semsdiu@SnsT
ereLeng 2 MIFLHSSHUSDETS. '
(A) audit work

sanflsans Gouene

‘6 test check

gl ufGsrgener

(C) audit report
sanflsams oMEams

(D) the terms of reference
@Bloy edglpemsd

(E) Answer not known

e Qgmweldena
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140. Auditing involves in a detailed of a company’s books of
accounts.

sanflsansuiluic erearug) e Bimeuagsler b smar Qewwyd ellfleumes
@ < rmigSlwm@b.
\K Investigation

LjeuanTiiey]

(B) Preparation
gwimliy

(C) Verification
gl uMTgge

(D) Error detection
QenLp seir(hLig G560 -

(E) Answer not known
eflenL Qg Mlwellcvena

141. Auditing through the computer is also known as

seflLQumdleow  s&pdlu  safldmsutiued gD GTau
SlaLp&sLL(HE D).

) Black Box

UYL Quilig

(B) Red Box
Seuliyt Quilig

(C) Computer Box
sanflefl Gl ig

(D) Auditing Box
sanflaens Cluig

(E) Answer not known
eflen Qs flweleene
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142. The financial risk 1s most associated with

B LS o e Qe ent_wig.

(A) the use of equity financing by corporations

Blmeuammigermed #oukig Bldwgeleamwits uwestu(H 3560
\6 the use of debt financing by corporation

Hmeuenggme sLar Bldlenwils e hEaH56E

(C) equity investments held by corporation
HneangssTed FLssULBn LkG (P HSeT

(D) debt investment held by corporation
Blmeuaid emeussmE@D s (psa(H

(E) Answer not known '

sllenL Ggflwelsvenay

143. According to Walter’s view, optimum dividend payout for growth firm is

aumeol_ifler Limeneuudeniilg, euariédl flmieuansdlhanen 2 sbg Feysbsrans Ceaisgise

A r=K
A r>K
©) r=aG
D) r<G

(E) Answer not known

aflenL Gaflweleveney
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144. Match the following :

Gereupeuareunenm GLImmSSeLb.
Concept Meaning
H(MHST Cuimmer
(a) Bonus shares 1. Increasing the number of outstanding
shares
Gureren LIkIE, Hlaiemeuuier o erer UBIGsatlen eraentlEms
2flsfasng
(b) Share repurchase 2. Stock dividend
L@ SH(pLOL eummbI@Se0 L& FFeS0sTens
(¢) Stock split : 3. Reducing the number of outstanding
shares
Lk Wifliy Beeeuuiley o érer URIGSaT6T crawTan{Ems
@opélng
(d) Reverse stock splits 4. Buy back of shares
L Lk Gy LII@&SaneT $)(HLDLI UThIgEa LD
@ ® ©© @
(A) 4 3

W2 4

D) 1 2

(E) Answer not known

2 1
B) 2 1 3 4
1 3
3 4

allenr Qs flwaelerene
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145. Typically means the firms holding of current or short term assets such
as cash, receivables, inventory and marketable securities

Cungieurs pLLIY wHmb @ndu st Qersgsarmar Qumss, eureysdr, &réE LHDID
sHOGUILMNSS salq W LSSTrsmer Hlneuad ereusHHLLmss @NSSng:.
(A) Debtor’s receivable management

sLanmaflgar QuDssEs Goeramenin

(B) Creditor’s payable management
sLapCarT Qeas88568 Goora@Teno

d Work capital

| LIl EPQGETLD
(D) Balance sheet
' By Hleved
(E) Answer not known
aflenL Aaflweldena
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146. Choose the right match from the following policies of financing current
assets :
LUy Qersdh@ Hldeupri@d Qsmaramssamaer HUTHESIS :

1.

(B)

(©)

D)

(E)

Depends more on long term funds

Barsre Hldlenw enibdmiLg)

Depends more on short term funds

@ndwsne Hldew gmiBA(mUILS)
Depends on both long term and
short term funds '

Bewr_sme wHmb @Gndlwste
Bldlaaner mibSmuLig

Depends long term funds for
Fixed assets and current assets
Bar_sre Qengg wHmID HL L
Q&ndg155EHEE baLsme Bl
gmiBH(mLLG)

1 and 2 are correct

1 wpmib 2

1 and 3 are correct

1 whmib 3 &l

2 and 3 are correct

2 wpmb 3 &l

3 and 4 are correct

3 wHmb 4 &M

Answer not known

ellenL Gz Mwelldvene

101

Conservative approach
LIpERIDGUNS DI GG (P D
Aggressive approach
&l 21emGLpD
Hedging

Q&L &
Matching approach

QuUITHBSILD eI GPDD
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147. Match the following :
QemaumeusmeuhenmLs CLIMmESSeLb.
Theories of relevance Concept of Dividend

reSQgrensuden QamimenL 1 &mssTassHen Cam_LmhseT.

D+ x(E - D)
@) P=—0K 1.  MM’s Model
K
j SRR
p=—K MM wréif
. JE
(b) P= %}ﬁ) 2.  Gordon’s model
P = B(1-b) Gamreflen wrgll
K—br
(¢0 P =P x(1xKe)-D, 3. Walter’s model
P = P(; X (1x Ke)— D, eumeLTT omglf
(@ () (o)
vﬁf) 3 2 1
B) 2 1 3
<G 1 2 3
() 3 1 2

(E) Answer not known

eSlen Gsflweilerene
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148. Assertion [A]

e [A]

Reason [R]

smyewrd [R]

Optimal capital structure is the capital structure at the
level of debt, equity proportion. Where the market
value per share is maximum and cost of capital is
minimum.

2 &HS POSHENS HLL_ELOLIL| GTEILIS], 63(1§ LIGI@EHSSTEN FhHang LSl
flsul sorsayd  pposaigdlar  elme  (GHODHSULFOTSEED
@ms@h  sLear wHmb Uk Adssdéd o der  ppOZETS
SL_LenLILIM@ELD.

Earning per share multiplied by price-earning ratio
gives market price per share.

@@p UlE mligw eumbrarsansg eieme eumeurl Nfsssme
QumsSlenmey ep(m LBiSlen shens ellenew SlanL_&ELD.

(A) [A] 1s correct but [R] 1s wrong
- gapm [A] & cgso'rrreb smrenro [R] g;eugu
(B) Both [A] and [R] are wrong
gapm [A] wpmod smyewd [R] seumy
\(C{. Both [A] and [R] are correct
ganm [A] womib smyerd [R] &

(D) [A] is wrong but [R] is correct
gmnm [A] seumy uenmed sryamd [R] &l

(E) Answer not known

cllenL GlgMlwelleveney
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149. Match the following :
Wlereumeuamainenm ClLmmss)s.
List I (Cost of capital)

uiquie I (epovgen oL sseilena)

(a) Cost of debt

L6 Fway

(b) Cost of preference share capital 2

@pdﬂ@rﬂsﬁ;m LIMI(@ PLPGO 6T GEG.DGM

(¢) Cost of equity share capital

LI epeogen Claaey

(d) Cost of retained earnings

U Wiy ssd Wsrear Qgway

(@ ((m (© ()
A) 4 3 1 2
B) o3 1 4 2

2 3 4 1
(D) 4 3 2 1
(E) Answer not known

sllenL Gsflweievensy

Cost Accountancy/2022
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List II (Features)

ulgwe I (semenwser)

The shareholders have to incur
some  brokerage cost for
mvesting dividend received

QuplulL  emu  FeysbgTanseaw

e Celeshe  fo 516G
Ceeaysaer Qawiw GaiarHib
The amount of interest

payment should be matched
with net cash proceeds of debt
aullg Ceausgib Qgnens sL_aflen Hlay
au(pLOTETSgIL 6 Glummhs Geuant(hbd

The rate of dividend payable on
these shares 1s fixed well 1n
advance at time of 1ssue

s LUBEsESE draiss Geuaiy
reys0srans eflflgnd  Ceuafluiiiyen
(Lpest

Blrenrudlssiu’(Hererg

Cumg

FallgGw

Cost of such shares 1s an
imputed cost
DGFHDHIL LUBGsatan Gaawey/alilene

sesEL LUl L Caweum@id



150. Assertion [A] : A project 1s accepted if the internal rate of return is

151.

less than the cost of capital

gapm [A] D epogears  Cewenas oL 2 emeummeuml  NElsD  (Gameuns
@mBsTe SlL b ghmystlarererliLHib
Reason [R] : In the internal rate of return calculation we set the
net present value equal to zero
sryewtd [R] D e dTeumeuny  &ewTHSL g, flar  sHCuramsw e
el HnH @ FoWTE HenwdsSGod.
(A) [A] 1s true, [R] 1s false \J[A] 1s false, [R] 1s true
[A] &M, [R] seum ' [A] seum, [R] &M
(C) Both [A] and [R] are true _ (D) Both [A] and [R] are false
[A] bppiod [R] & [A] wpmd [R] seum

“(E) Answer not known

ellenL Qg flwslldvena

‘X’ Ltd is expecting an annual EBIT of Rs.1 lakh. The company has
Rs. 4 lakhs in 10% debentures. The cost of equity capital or
capitalisation rate is 12.5%. You are required to calculate the total value
of the firm according to the Net Income Approach.

X Ltd 10% sLeaf_ QL usdmisaiiey <pair® EBIT ep. 1 el ssams erdliiunislmg.
sw@ual .4 wlsseng 10% sLafl(h usdrrseie CubmeTers. UG fpoGasHen
e ivewg pogaiwrssd flgnd 12.5% b, Hler  eumwrean
SlamGpanuianig fineuansdlen Gonss wHiienu Briger samsdl. CauamHib.

(A) Rs. 8,70,000 (B) Rs. 8,65,000
. 8,70,000 . 8,65,000
(©) Rs. 8,85,000 v Rs. 8,80,000
. 8,85,000 . 8,80,000

(E) Answer not known
eflenL Qsflweievensy
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152. Operating ratio formula is
Quiss Ndlsb @GS Tb

Operating Profit

A) x100
Net Sales
Qewdum @ amw oo,
{) Operating Cost %100
Net Sales
e
Blar el Huener
(¢ Uperating Cost .,
Sales
— o
FLWLIL DI S80 00
&Slmhueneor
) ARSAENECAR,

Net Purchase

Cewur’ () oiL&sid % 100
Blay Qsrerapge

(E) Answer not known
elenL Qg flweidens

Cost Accountancy/2022 106



153. Calculate the debt-equity ratio from the following :

Rs.
Total Assets 2,60,000
Total Debts 1,80,000

Current Liabilities 20,000
QemreumeuarauHbled(Bhgl GLei FoLBIE HH55m88 samsHlHiniser:

€.
Qurgg Cersg&eer 2,60,000
Qrss sL_enger 1,80,000

sHCumensw QummitiLseT 20,000

-!{2:1 : - (B) 2:15
@ 2:125 M) 2:1.15

(E) Answer not known
eflenL Qg flweldens

154. What is the debt service coverage data from the following information?
Net profit before interest and tax Rs. 50,000.
10% debentures (payable in 10 years in equal instalments) Rs. 1,00,000.
The Tax Rate 50%.
erreu(mHbd sseulen SL e CFaneU &nlq GTTE) HI6 CTETET?
By emub Cod el wHmbd eufl ep. 50,000 10% sLer usdymiser (sowren
geuananmsafla 10 gy earBsaier Aegssiumim) . 1,00,000 eufl afldlsin 50%.

(A) 2.00 (B) 1.47

@ 167 (D) 2.35

(E) Answer not known
ellent Qs flwaferene
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155. From the following information, find out debtors’ turnover ratio :

Rs.
Annual Credit Sales 25,000
Sales Returns 1,000
Debtors - 3,000
Bills receivables 1,000

Yeireum b sseuallal(mbgl sLanmeflsatien eumeus sldlssmad searHlueyb :

e
2 ar(H) sLan 6SlHLeneaTseT 25,000
ellpuenar $l(mLLID 1,000
LpLIe sLarreflser _ 3,000
Qegusgiueumaeilu wrmpnpss G 1,000
(A) 9 times (B) 7 times
9 wenm 7 apenm
€5 6 times (D) 8 times
6 upenm 8 e

(E) Answer not known
aflenL G flwelldena
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156.

157.

The continued process of detecting and reducing or eliminating errors in
manufacturing, streamlining, SCM 1mproving the customer experience
and ensuring that employees are up to speed with training is called as

2 pusHula Gewsmars samHlsd WHND @GNS Sdag BéEsd, alflCurss
sl Braurssms QpHULHSSSD, umgsmewrert AauauFms Cbubhdgisen
wppd uaflureriser LWlHAuler Coussdladr @mliumg o md CFlige %aﬁlu_lmg)@m
Qamreflwmen Gewdapenn

J Total Quality Management  (B) Total Management

Corss s1 G reamrento Qorés Gomemrento
(C) Stress Management (D) Wealth Management
DG (PSS GLoGTaRTanLD @Fevey Goemamento

(E) Answei' not known
eflenL Ggiflweleveneo

Lending and borrowings for a short duration ranging from overnight to a
fortnight is done under

@Cr @refle Qmbal em uHanenbg HTLaseT cuanrullerar @Gndlu HToSEHE sL6r

WOMD L 6T UTRIGSD %@ Ceuwdiuhdps).
) Call Money Market (B) Treasury Bill Mafket
D{EMLOLIL| LIenT FHens &(THELLED 2_GHiTlg U6 &IHENS
(C) Collateral Loan Market (D) Commercial Bill Market
G\enanT &6 FHEns cuantla 96 sHang
(E) Answer not known
eflen Qg flweideane
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158. From the following which one is False statement?

esren (meueeuh el (mbs seummen 2ibl&amna
-6 Public deposits are secured

(B)

(©)

(D)

(E)

Qung eneuliLs@gTens LTgSTESLILHS DS

The Govt. Companies may accept Public deposits
2I78 Blmeuarmbiger Qung eneulig Cgmengent erdHmisolsmenTLg)
The cost of funds on Public deposits is less than the minimum rate
of bank advances |

Qung eveuliyy Hifsamer Qe GmPBEULE aumdl (paruen Hssms e
GHIMEUTSE 2_GTENg) . -

A company can accept Public deposits within the Limit specified by
the Act

e Blmeuerd Cumg eneuliy Glsmensenw gl ggmed @GOlUEuulL eurbibe
ghms Camerereombd

Answer not known

allen Qzsflwelcanc
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159. The decision to acquire a new and modern plant to upgrade an old one is

called

LW el Cubu®Sgeushsns U wonh Helar <emeen aUmkiEeshens

T(H&GD (Plg.6Y GTETLIS)

(A) Financing Decision
HE ¢pigay

‘6 Investment Decision

CERECIETTY

(C) Capital Decision
(PRSI (1P 6L

(D) Dividend Decision
moyp Anens iy

(E) Answer not known
cllenL Ggilwaeilevensy

160. The focal point of financial management in a firm is :
e(m Himeuarssled Bl Bliraunasdlen enowilijerertl _ D(GLD.
(A) The number and types of products or services provided by the firm.

Blpeuemd eupmigd gurfllygser weang Comeusaflar eranamilédans wHmib
CUENGHSET

(B) The minimization of taxes paid by the firm.
Bimeuend Ceausgid euflsemens @ansse
\6 The creation of value for shareholders.
UGS TS (@Eh&Smen Sl 2 (hHeums@se
(D) The dollars profits earned by the firm.
Blmeuerid LTS S@GD LTeTgEeT b

(E) Answer not known
aflenL Qs flweidene
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161. Assertion [A] : Financial Management process begins with the
Financial Planning and decisions.

gapm [A] : B  Cuoerarenw Qeudaen HFH SHiiid e wHmb
Plg.65EHL6T QFTLhiEGEng).
Reason [R] ’ Financial Management process does not need feed

back system.

sryend [R] : & Cuenemeny GQewd parmse Yeatayl L ssHeauw (pepm
Gaemauuflerena. '
(A) Both [A] and [R] are true and [R] is correct explanation of [A]
[A] womgw [R] @rew@ow sflwreng womn [R] eewg [Aluler sflwner
eQemEsLD ' ' - '
(B) Both [A] and [R] are true but [R] is not correct explanation of [A]

[A] womib [R] Qran®in sflwreng <yeme [R] eranuig [Alsg sflwmar eflerssin

@lavenen
d [A] is true but [R] is false
[A] sflwrengy semed [R] seumnens;
(D) [A] 1s false but [R] 1s true

[A] saupreng <yemmed [R] sflwnerg

(E) Answer not known
eflenL Qg flwaferena
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162. Activity based costing can be a part of both

Qeweur’ () oigliueulerer oi_sselane seanrdsluameang < Ew

G)raRTiq IO ¢(h LG WIS @) (HE&HeTLD.

(A)

N1

(©)
D)

(E)

a unit costing and a process costing system

SNVE 3L &sallae sarsdlwe wHnb tFuapenn iLssellane seammadwc

a job order costing and a process costing system

vl e LGl samsdlud wOHmD Csudpen BLssellme
SenTSH S W6

a contract costing and a job order costing system

RUUBS L &selena sarésdlue whmib Uil g,amean oiLssellame semmddlec

a service costing and a job order costing system

Coameu SiL_sselama samédwd bHpb Lef @y 2L sselme sarédwe

Answer not known
eflenL_ @g,rﬂ wedléenay

163. A method of accounting to find the total cost of activities necessary to
make a product is

@ Qurmetler o (heaursasdled, Qwrss Geudur@safier samrédued QUENS
DpELD.
\() Activity based costing

(B)

(©)

(D)

(E)

Qewur® oigiuemulemer eflanaudl e

Standard costing
syBlene eflencoull_cv

Life cycle costing
auMp&ens spnHél eflepaulil_c

Marginal costing
eflaflbLflensy ellaneoudl_ev

Answer not known
edenL Qs fwelldveney
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164. Activity based costing gives better understanding of :
Ceweour® <igliumiwilorear oL gGseilene samradliue Ghss fobs
Uigsena iefl&ESmg.

(A)  Cost control
SiL&sMened sL_Hilium()
(B) Cost system
SiL &&6Naney enioliL]
(C) Cost centre
L &&HeMee el
'6 Cost behaviour
2L saellane CUTEG/BLSMmS
(E)  Answer not known
ellenL Caflwelevenay

165. Cost attribution to cost units on the basis of benefit derived from indirect
activities like ordering, setting up, assuring quality 1s

LT (IS, HmEHD, Hr5m 2 mdl GFiigs GUITED MPE BL_Gllg Henas6Te
Gmpg Qupliin@b Berewuler =igliumLuld Cewe| BOEGHERHEG T UED
Ggee| smyemrd eremLg)
(A) Vital, Essential and Desirable Analysis
Wa&alw, vigdureudlwwner eflHbUSSEE LGUUTLIE,
'{P){ Activity Based Costing

Ceweum’igar =g v ulleore Qgawey

(C) Process Costing
Ceweaperp ey

(D) Marginal Costing
ellefliby Geway

(E) Answer not known

eflenL Ggmlwelvana
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166. The following is the advantages of “Activity Based Costing” are

Wermeumeuameumler Qewdun(y 2iigliuemullomer Cewelarssler HerenLoseT 6Tg)?

(1) ABC can help in distinguishing between profitable and unprofitable
products and customers.

ABC wormusjyorer whmn eruwdn  surfiysedr wombd  eA6Cwrsismer
Caupgu@sdsam L 2 s5608ng).

(11) An understanding of cost driver rate can help in budgetting over
head costs. '

Qsewa| gl e aisb updlu Lflge, ul Gyl Ceweamel Uil 2 gajb.

(iii)) ABC system is time consuming and expensive to develop and
Implement '

ABC Qeudu@ssieded Crrsmsub a@ss Osmaradled clmpmuub fsb
eT(H&GLD.
6 (1) and (i1) only
(1) whHmib (11) wiHb
(B) (1) and (i11) only
(1) wHmb (111) wLHD
(C) (11) and (ii1) only
(ii) whHmbd (111) wLHW
(D) (), (1) and (111)
®), (i1) wpmd (111)
(E) Answer not known
eflenL Qgilweivena
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167. In Activity Based costing, the product level activity is concerned with

Qeweur( g liuen ullorear 2L dselane samsdwaldn, wrflin Hleve Gslum
o ossmD srau(perers.

(A) Consumption of indirect materials
wenm(ps Qumplsefler BisTaNe

(B) Materials consumed for each batch of product
gaeuleumm Qgm@d swrflidnsmer Gummsefler Hisredle

‘({ Designing the product

QurpeT swmilienU 6llgelenngs el e

(D). Deciding the market for the product
ClUMBEREETET FHENSEN L 6Ulg EUMNLDGSE0l 6

(E) Answer not known
cllenL Ggmwallvenen
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168. Choose the correct about ABC Analysis?

a198 (ABC) uglumiemeus upfl sflwunerenss CsibOsHhissa,ib.

(1)

(2)
(3)

(4)

o«

(B)

(©)

(D)

(1)

A strict control is exercise in high percentage of material cost.

Quner Qewey s ssaissdledr QmeEnCurg sHb sl (HUurdeer
Qeuwiu®Eg.

Investment in inventory 1s reduced.
FT&EESaN 0 (PSS (H DS ILIHSDS.
Storage cost 1s reduced.

SlLmdl Qe GamnssiuhEng.

Management attention is increased in all the items.
Senand g durmmlsallgibd BHlieurss seuard flefsg crens).
(1), (2) and (3)

(1), (2) womw (3)

(2), (3) and (4)

(2), (3) womid (4)

(1) and (2)

(1) whmd (2)

(3) and (4)

(3) womib (4)

Answer not known

eflenL Qg flwellevenay
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169. 1s referred to as delayed costing.

BTDSOMET LS5 Neme Semdhd (D eran ep&sLILI(HLD.
(A) Life Cycle Costing
BUTLPSENS &LPNHE Samradliie
(B) Target Costing
BlwsHE samddliLd
\6 Backflush Costing
GU& ooLI6TeY HemTadlwien
(D) Value Engineering
- oSyl Qumdluilwe
(E) Answer not known
eflenL Qgflwelans

170. 1s an accounting method that records the costs
associated with producing goods only after the goods are sold.

samsSlwey  apenpwnengl, Cdummliser  elmsiulL YerenGr,
SUGlummLsepLen QsrmyeL i oL sseilenvenwt Ligley Gleiyid.

(A) Kaizen costing

GEsWFeT oL sHellene

‘6 Back flush costing

Cus Jeliemey 2L Sgefllene
(C) Lafe cycle costing
QUMTP&MS GLHEl 2iLsaellene

(D) Activity based costing

Geweur® oigliueLuleorer <L ssellane

(E) Answer not known
eflenL Qgflwedcene
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171. A method for creating competitive advantage in which a firm reorganizes
its operating and management functions, often with the result that
positions are modified or combined is called

Gumily BETEMLSEET 2 (HEUTHGHUSDHT @ (pedD, HHD @ Hlpeuand oigen
Qewumie WwnErmbs@Ed wHmb Grudurfsamer Bgssly Hreudlughsmer
WPyeysEpLen  Hlaasmer OIHHUMDEGHD DwF QEDHO@MEGD (P

SenpssliupEng? '
X Business Process Re-Engineering

cuanfla GlFweapenn mErenoliLy
(B) Total Quality Management
Qorss i Genearento
(C) Back Flush Costing
" e ufliy Geewey
(D) Value Analysis
L uEGEUUTLGY
(E) Answer not known
aflen Qg flwefdene
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172. Target cost is a product cost estimate derived from a

Qosg oo  eaeamm g  elamerGurmer  Gaway,
BlirenruilssiuBSng).

(B)

©

- (D)

(1)

Competitive market price
Gum_gert sHans elane
Demand

Gganau

Supply

G)_IIEQI'EIHSGiJ

Quality

gy

Answer not known
sllenL Gsflwefevena

173. Value analysis is an effective tool for

L uElumie] _ 6(MF LIWIGIGTaTT &(mHedlim@LD.

M Cost reduction

B)

©)

(D)

(E)

SN GenLILSDHSTET

Cost control

QLsaellena s HULHSSHeUSHETET
Cost increasing

SLsselana siflsflluugmsamer
Increased revenue

eu(meuml Slasflingname

Answer not known
eflenL Qgmlweldene
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174. Under throughput costing, 1s considered as product cost.

dmareunéss  6isd L ssellee  samsdueia el ener@uimmeT
SIL_GHN@IITE S(HSLILIHILD.

(A) All Direct Cost
Slenasgl Crirlg. ClFaesEpiDd
Direct Material Cost
Crmg GummLlsger Haaa
(C) All Indirect Cost
SEMaNSE) DS (Fae,sEHLD
(D) Direct Labour Cost
Cpirg 2 enpliL Gaeaey]
(E) Answer not known
alent Qs flwclldane
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175. Which of the following are true to Kaizen costing?
Caisan 2i_ssellenauier G Qar@asiiulHerareunidle erg Fiflwimeng ?
i Potential to have greater reduction of costs.
Qeeeilamiigemer % 21i5ls ojerelle) GMDESS Falgl e

2. Aims at increased efficiency in the manufacturing stage of product
life cycle.

Qunmpeflen cumpsmss sppsluligiemar 2 pusd Hleaeould o wi Geuddpeer
Crrasonss Qememr_g).

3.  Applied in the manufacturing stage of product life cycle.
Quim(mefleor QUTLDEN & SLpn&udl ey ererm 2 HuGSH Hleneoullen
vweaTuhgSLuHSlermg.

(A) 1only tr-ue
1 o @b &

(B) 1 and 2 are true
1 wHmyb 2 &

(C) 1 and 3 are true
1 pmib 3 &

{) 2 and 3 are true
2 wHmid 3 &l
(E) Answer not known

ellen_ s flweldene
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176. Kaizen costing originated in

L7,

Qewigen Lssellena sammsdlweden Gamhmeumi

Qﬁf Toyota motor company

(B)
©
D)

(®)

CrrCurlr GurlLmi flmeierd

General motor company
Qgerryed Gom_ Lt Hlmieuerid
Ford motor company

oGumT(® Cum_LmT flmieuerid

Skoda motor company

avGamr Gum_L i flmeued

Answer not known

AenL Qg,rﬂm'eﬁ]sbemu

Kaizen costing system are more concerned with reducing

Caswigen oi_sseilane sanradlwedler Crrsswneang

(A)

(B)

Fixed cost
Blenaowime 2jL_ssalane

Variable cost

LIHUHIL L &&Helena

\6 Actual cost

D)

(E)

2 _GTEITLIIG WIS 9iL_&&6llena

Standard cost
QFbsT ALSs6dlena

Answer not known
eflan Qg flwelcrency
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178. Cost attribution to cost units on the basis of benefit received from
indirect activities e.g., ordering, setting up, assuring quality.

L®DIPS  BLeugdhmasatenr epwd  GQuplull.  perewseten  igliLem ude

IILGSHADD AVGHEHEG L Ssellmwenw Tl (Heug (2gTreawrons QLT

Qauieug), WSS, STSMG 2 NHCFLSED).

(A)

il

©)

(D)

(E)

159.

Always better control analysis
rUGuUTgIL fphs s rur® LEGUUmle
Activity based costing

Ceweur® sigtiuemiulleonrar oL ssalena sartadlwe

Marginal costing

cleflbyBleney iLsaeilena seamradlwie

Product costing

ellanem@LnHeT SiLSselana samsdlwie

Answer not known
cllanL QgMwaelldena

costing 1s preferred for continual and gradual

improvement through small betterment activities.

SLGselwd samsduerearg HPlu Cobum () BLelySmSHET peLb

Cgrrgdlwmer wHmib U Ligwrer perGearmnsslne el mbuliu@éns.

6 Kaizen

(B)

©)

D)

(E)

AL

Lafe cycle
GUMLDGENS SHLMHE]
Target

Qs
Activity based

Qeweoun(® sigtusnufleomer

Answer not known
et Qg flwaldane
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180. Identify the phase of Life Cycle for the product — ‘A’ Given Below :
Qumrper ‘A’ aunpsens spnflude erps Hlaveuder 2 erarg?

Situation :

Huge inventory of product ‘A’ is available. Product ‘A’ is sold, but there
are many products in the market. Which are priced lesser than ‘A’. But
have the same utility as ‘A’.
Gprblene : |
Qumper ‘A’ eifls serey @rUdd o drarg. Qummedr ‘A’ ellpumer QswwLLBFDE.
S, ETITED ‘A’ eeuiGuimed LweTLIT( o @TeT Cumrmlser omsrguile =ifls oereie
wHmbd ‘A’ emeu el Genhs elamauila o drerg.
(A) Development and Launch phase
cuerigs wHmib Qeuefuil @ Hlene
(B) _Growth phase
eueiiasl Hlaney
(C) Maturity phase
eUeTTTHS [Blaney
wﬂﬂ Declining phase
sfley Hlene
(E) Answer not known
elenL Qgflwealerana
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181. Which of the following SWO'T elements are internal factors for a
business?

&Gy @i Harar SWOT ugliumiey e glysele ereneu g Hpeueangdler o 6
sryeavtlEenaer @nlsdlermen?
Strengths and weaknesses (B) Opportunities and threats

cuadlemio, Lieaied UML), SIFFDISSH

(C) Strengths and opportunities (D) Weakness and threats

auadlanto, GumiiliL LIQVETEITLD, H&F&HN)SEHE0

(E) Answer not known
aflenL Ggflweldens

182, 1s used to 1dentify the strengths, weakness, opportunities
and threats facing the company

Bmeuand erdliGamerend U, Umaiand, eUMIULSET WLOMD SAFHENSSOSMET

SN L_UITETLD &ITEwT LwerUH55UUHSng).
) SWOT analysis
auallenio, Lieveiabd, aumULIL&ET, SiFsnssasdr, uguurie (SWOT)
(B) PEST analysis
<@irflwed, Qummerngmyb, Fpso wHmn Ggmldnr v uglumie (PEST)
(C) Geographic variables
LeSuflwed ordaer
(D) Usership

o UGWTSHLD

(E) Answer not known

aflenL. Qaflwefdene
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183. Total Quality Management 1s a focused management
system that aims at continual increase in customer satisfaction at
continually lower real cost.

Qurss g7 Cuoeramend  eTearUg  6(F enWILHSSILIL L
Cuereamend  enwliun@gd, @& Osriibs  Gonbs o earmowurar  QFweild
aumg sepswinari Smlidew CgrLinhg fafliuuamg Crrssnnsd arar(HeTarg.

M People : (B) Manufacture
LD&&ET 2 Hugdwimert

(C) Producers (D) Consumers
‘e_r,mfrrﬂl;lurrsnr'r IAENEET iy

(E) Answer not known

ader Ggflweldanew

184, In Total Quality Management, the quality of service 1s concerned with

WWs5T Cwarareawulled, Graeuuisr S : 2 e GFmLmLenL_ig).
(A) Quality of Design
aug euenLoLISlen Siib

() Quality of Service Delivery
Gaeneu euprisaler SFD

(C) Quality of the image of the company
Byeuangdlen LiLsglan s

(D) Quality of the management efficiency

Guamrarenis Gewddnaier Hywn

(E) Answer not known
aflenL QgMweidema
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185. A Philosophy and a set of guiding principles that represent the
foundation of a continuous improvement of an organisation is

QR SSgeud LPML ePsTiHb Csramssellar Ggrguureag, GCsTLHS)
CubuBssid @n sl ok sasmg UrEHldsgaiubssas
(A) Customer Relationship Management
QMg HENSWTETT 2 me| GLoeomenTenLn
(B) Project Management
L Cemearento

\6 Total Quality Management

Qurgg 7 GCuemarenlo
(D) Services Managemént
GCoaneuseT GLOETETEnLD

(E) Answer not known
aflenL_ QgMwelerena

186. provides information needed to manage organisations
effectively.

uL Hneueiis@psEs Caameuwmer seeuame SHbuL eupkIGSDng.
6 Management Information System
GuaremenLd S ienLoLIL
(B) Supply Chain Management
auLpmIGE CFTLiT Genearenio
(C) Bench Marking
STHleneWIT&HGHLD
(D) Pricing
ellanay 6u@EHSHeD
(E) Answer not known
efleni Gsflwelcvena
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187. The essence or object of six sigma is
2m Sl dlowss eTemaid Frusee §7 Goeramenoulear FTITDHFD jeg)
Cummer

‘K Upper control limit
Ged QLU supLby
(B) Lower control limit
&1 s (HUuT’ () euribyy
(C) Upper specification limit
Cuoéd efleurs@miiiLy euiby
(D) Lower specification limit
&1p efleurd@ il euibL
(E) Answer not known
eflenL Ggiflwellevenen

'188. Statistical quality control helps in detecting

yerafludwew srss_Hum@ samL_flu 2 565l ng).
(A) Chance variation
GUMLILILY ommyLm(h
6 Assignable variation
5155580 1 WL LDIMILIT(H)
(C) Both (A) and (B)
 @rein®i> (A) wpmi> (B)
(D) Neither (A) nor (B)
(A) wpmib (B) Qo
(E) Answer not known

cllenL Glgflwelsrene
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189. Small/mid-sized six sigma projects are extended by professionals titled

as
ADw/phHssy semelowrar < n L eless eTanaubd STBIGEUID®D STELOGTERTENLD
S misar 6TGIT semeolnll i L HlLjemrTaemmad
Qrweru@RssliuBSerar.
(A) Champion

eSmen

% Green Belt

u&eng Glue
(C) Black Belt
FHmUL Gluedl
(D) Site Champion
ST e

(E) Answer not known
efllenL_ @gmlwaelcveney
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190. A process by which a firm identifies its critical success factor, studies the
best practice of other firm for achieving improvement.

@ Hneuand @ger psslunrear  Cleundls smyeflanws Sfbg g, Cubur®
SlwLeugnsns wHn Bneeamsaien nhs BerL(penseamers Ligligrdlpng ereuemmn

SampssliuBhdEng?
(A) Statistical Quality Control
yeretluflwed sras_Hiur®

(B) Plan-Do-Check-Action

S ib-gar-LflGangenen-HL6ulg Hens
(C) SWOT Analysis

SWOT ugiumiey

@r Bench Marking
SrulBgHe
(E) Answer not known
ellenL Gz flweilceney

191. To improve. the performance to the level of the competitors.
Cumigumerisaier HlenadE Gawddnanear CobuBhEsgeo
(A) Internal Benchmarking

2 67 STUL[HSSD
(B) Functional Benchmarking
Cewdur(® sriu@sse
Competitive Benchmarking
Gumiig g;ljlilu@gg;sb
(D) Problem based Benchmarking
rgflenar =g LiueLullemer SriuBdse
(E) Answer not known
eflenL GgMlweleena

131 Cost Accountancy/2022
[Turn over



192. is the continuous process of measuring the products of a
company against the toughest competitors.

aeTugl Sgerorar GurlgureaTisEssE adlimes o Bineuagdlen
swmilliysenet erell (M Clgm_r&flumer QFweaapenmuinE.Lb.

) Bench Marking

&7 Hleneowinésid
(B) Six Sigma

<2pm S elass seraeuib Srhiseuaa GloamenTenlo
(C) Du-Pont Analysis

@rlenL urerl L@GUumie]
(D)- SWOT Analysis

auallenLd, Levelarid, GUITILILI&ET, DAEFEMISHD, LIGLUMLG

(E) Answer not known

ellen_ Qzflweldena

193. The two — categories of bench marking are
sriuOss6ler @rah Mileyser:
(A) Product based and process based

swmfliL) =g o uleorer whHmib GFwdapenn 2L ulileomar

!K Problem based and process based

“r&lenar g Liuent_ullevrer wHmid Gewedapann g LiLient _udlemer

(C) Product based and programme based

gwmilliy g e ulemer whmib By Siglivianullemer

(D) Programme based and strategy based

Blrev g v uleomer wHmib 2 8 =g Litien_ullemer

(E) Answer not known

eflenL QgMweldena
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194. The average clause in a loss of profits policy protects the
gynefl 2 lsmpLen  suqgw  @Qorusdle  ghuBd  @uilbnster  smiS e

LTI S Mg LULI(H LU

(A) Insured

srSH Qednuiud e
{ Insurer

sTSH eflueur

(C) Workers

uewflumeTiger
(D) Organisation
Bimeuend

(E) Answer not known

aflenL Qg flweieena

195. The term supply chain refers to

MECwrss srdled eremm Glamen o0& GH&HDS).

‘(ﬁr The linkages between suppliers, manufacturers and customers
FUIMETWITEET, 2 HUSHLMETTSET WLHMID UMy SESWITETTSEhEE GlenL udlemar
Qg

(B) The linkages between suppliers and customers
FUIGHETWITSET LOMHMILD GUITlg HENSWITET(HEE G)enL_udleoman gL
(C) The linkages between suppliers and manufacturers
sliemaTT&eT LHMID 2 HuSSHwTeT(HEE GerLudemer Ggm i
(D) The linkage between manufacturers and customers
2 HUSELITETTSET LLHMILD GUITy SENSWITET(HEE, GenLulleomar @gmi
(E) Answer not known
eflenL Qg flweldena
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196. A supply chain is a sequence of factors that perform activities required

NBCwnss smdledl eramug Csmeuwner Gewdurhsmers Gsiub sryemflseter
cuflengm@Ld

(A) To find products that are similar
@55 swrilliysemers serL_iHiw

(B) To facilitate whole sellers inventory selections
Corgs elpuearnumeriger sr&E Coma|saneT erafllEms@GousnE

(C) To create synergy in their training programs
Liufnél gh_l_ggmﬂ Llevamdlmern 2 (Heunss

\@( To create and deliver goods to the customers

Qumm_sener 2 (Heursd @;asrr(?mrr@aa@ GULPME (GG 6

(E) Answer not known
allenL Qg flweldena

197. All processes that focus on the interface between the firm and its
suppliers

fneiarsfh@d  oger FlaaTUTEHERs@EnD G wborar Gl (passsld seued
QFISHID BenESg CFWOAPE DS EHLD
(A) CRM - Customer Relationship Management
aUMgSengwimert Glgmiry Gemerento
(B) ISCM — Institute of Supply Chain Management
eI Ggmim Cuemsimrento HlmiaueLd
'@( SRM — Suppliers Relationship Management
SiefllCurt 2_pey Guereamento
(D) SCM — Supply Chain Management
auLpmIGE Ggm_im Guememento

(E) Answer not known
eflenL Ggfwaeilsvena
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198. A systematic method by which organizations can measure themselves
against the best industry practices 1s

Apps Csnfler pepL(pansErsE edrmer Hneiamsdr shsmer GbuhssHs
QameTemddaly LI 6(IF (LPENDHIITET (LHEHM

(A) SWOT analysis

auallenio, LEeIAID, CUTILILSET, HNFHNISHED
\( Benchmarking

L L &@GMudlLe
(C) Scanning

oan(h &S TSHeT
(D) Quality circle

. SULOIET GUL_L 1D

(E) Answer not known
ellenL_ s Mweflcrenev
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199. The concept of Balance score card revolves around which of the following

perspectives:

swhlene wIHUCUT e eranD HMGH Wemaumbd 6Thg semGanm_Lsmgs &DHi

@S ng|

(a)

(b)

“(c)

(d)

(B)
(©)
D)
(E)

Financial, Statistical, Internal business processes, External
business processes

B8, yerefl eleurid, 2_ar cuantls Qawdapenmaer, Geuatl cueanfls Clawdapepmaer

Financial, Customer, Internal business processes, Learning and
Growth

B8, msTGeumt, 2 6T cuenfla GlawdApenmaeT, HHmE HMID eueTTEs

Financial, Customer, Political, External business processes

B8, mETGeunt, orfwe, beueflliym euanfls GQawdapanmaer

~ Financial, Customer, Political, Learning and Growth

B8, BETCeunt, srflwd, sHme LHMID ueTTFS
(b) |

(©)

(a)

(d)

Answer not known

sfilenL Gamwelevency
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200. Balanced score card measures with benchmark for performance in

Qe Osuadpayssrar 2areCarLar swblalLBSSIULL
mﬁﬂ@ua&ﬂat'_sm_@{maﬁ(gas@

*( Non-financial areas

Bl seng LGdlaer

(B) Financial areas
B8 ugdlsdr

(C) Development areas
cuemi&sl Li@dlser

(D) Structural areas
s enwliL] Lu@GSser

(E) Answer not known
elenL Cgflwelldvena
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